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TET CUM TRT – 2018 

SA – PHYSICAL SCIENCE – EM/TM 

1. Homo sapiens first appeared towards the end of this age

1. The Microlithic age

2. The Neolithic age

3. The Palaeolithic age

4. The Chalcolithic age

eÖqeC²Ü �¿£�Ü>· yîTT³¼yîTT<�³>± �jáT³|�&�q ¿±\eTT jîTT¿£Ø ºe] uó²>·+ 

1. d�Ö¿£��s�Ü jáTT>·eTT (yîT®ç¿Ã*Ü¿ù)

2. ¿=Ôáïs�Ü jáTT>·eTT (�jîÖ*Ü¿ù)

3. bÍÔás�Ü jáTT>·eTT (�|*jîÖ*Ü¿ù)

4. ¿±+d�«s�Ü jáTT>·eTT (#�ýÙ¿Ã*Ü¿ù)

2. ‘Downs’ are the grasslands found in

1. Australia

2. South Africa

3. Arjentina

4. USA

»&êH�àµ >·&�¦uó�ÖeTT\T �¿£Ø&� ¿£\eÚ.

1. �ç�d¼*jáÖ

2. <�¿ì�D �ç|�¾¿±

3. nsÁ̈+{¡q

4. jáTTmdtm
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3. The chairperson of NITI Aayog is 

 1. The President of India 

 2. The Prime Minister of India 

 3. The Chief Justice of India 

 4. The Speaker of Loksabha 

 úÜ  �jîÖ>´ n<ó�«Å£��&�T 

 1. uó²sÁÔá s�h|�Ü 

 2. uó²sÁÔá ç|�<ó�� 

 3. uó²sÁÔá ç|�<ó�q H�«jáTeTÖ]ï 

 4. ýË¿ùd�uó� dÓÎ¿£sY 

 

4. According to 2011 Indian census the highest population density is 
found in 

 1. Andhra Pradesh 

 2. Madhya Pradesh 

 3. Chattisgarh 

 4. Delhi 

 2011 uó²sÁÔá >·D²+¿±\ ç|�¿±sÁeTT nÔá«~ó¿£ ÈqkÍ+ç<�Ôá >·\ s�h+ 

 1. �+ç<ó�ç|�<ûXÙ 

 2. eT<ó�«ç|�<ûXÙ 

 3. #óárïdt>·&� 

 4. &ó�©¢ 
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5. State bank of India was previously called 

 1. Imperial bank of India 

 2. Punjab National Bank 

 3. Central Bank of India 

 4. Reserve Bank of India 

 �d¼{Ù u²«+¿ù �|�t �+&�jáÖ |�PsÁÇ+ �ý² |¾\e�&û~ 

 1. �+|Ó]jáTýÙ u²«+¿ù �|�t �+&�jáT 

 2. |�+C²uÙ Hûw�qýÙ u²«+Å£� 

 3. �d+ç³ýÙ u²«+¿ù �|�t �+&�jáT 

 4. ]ÈsYÇu²«+¿ù �|�t �+&�jáT 

 

6. In India the Goods and Service Tax (GST) has been implemented 
from 

 uó²sÁÔá<ûXø+ýË ed�Tï�de\ |�qT� (�mdt{ì) neT\TýË�¿ì eºÌq Ôû~ 

 1. June 2, 2014 

 2. July 1, 2007 

 3. July 1, 2017 

 4. June 30, 2014 
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7. Raslila is the folk dance form of this state 

 1. Bihar 

 2. Kerala 

 3. Goa  

 4. Uttar Pradesh 

 »sÁd�©\µ C²q|�<� H�³«¯Ü � s�çcÍ¼�¿ì #î+~+~. 

 1. ;V�äsY 

 2. ¹¿sÁÞø 

 3. >Ãy� 

 4. �ÔáïsÁ ç|�<ûXÙ 

 

8. This article of Indian constitution provides for the creation of All 
India Services 

 uó²sÁÔá s�C²«+>·+ q+<�* � �]¼¿£ýÙýË nÏ\ uó²sÁÔá �de\ $uó²>·+ @s�Î³T

>·T]+º bõ+<�T|�sÁ#á�&�+~. 

 1. Article 17 

 2. Article 317 

 3. Article 312 

 4. Article 412 
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9. The Indian Institute of Space Science and Technology (IIST) was 
established at 

 1. Bengaluru 

 2. Thiruvananthapuram 

 3. Mumbai 

 4. Panaji 

 uó²sÁÔá n+Ôá]¿£� Xæg eT]jáTT kÍ+¹¿Ü¿£ d�+d�� (IIST) �¿£Ø&�  

çbÍsÁ+_ó+#á�&�+~. 

 1. uÉ+>·TÞøSsÁT 

 2. ÜsÁTeq+Ôá|�ÚsÁ+ 

 3. eTT+uÉÕ 

 4. bÍH�� 

 

10. The first recipient of Bharat Ratna award was 

 1. C. Rajagopalachari 

 2. Atal Bihari Vajpayee 

 3. Pandit Madan Mohan Malaviya 

 4. Dr. S. Radhakrishnan 

 yîTT³¼yîTT<�{ì uó²sÁÔá sÁÔá� ny�sÁT¦ ç>·VÓ²Ôá 

 1. d¾. s�È>ÃbÍ\#�] 

 2. n³ýÙ _V�ä] y�CÙ�|sTT 

 3. |�+&�ÔY eT<�H� yîÖV�²H� eÖ\MjáT 

 4. &�öö mdt. s�<ó�¿£�w��H� 
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11. ISRO was set up in the year 

 ISRO � d�+eÔáàsÁ+ýË @s�Î³T #ûjáT�&�+~. 

 1. 1962 

 2. 1969 

 3. 1972 

 4. 1952 

 

12. Tribal sub plan was developed for rapid socio-economic 
development of tribal people during this five year plan. 

 1. First 

 2. Second 

 3. Third 

 4. Fifth 

 Ð]ÈqT\Å£� ÔáÇ]Ôá>·Üq kÍeÖ�¿£̀ �]�¿£ |�ÚsÃ>·Ü ¿=sÁÅ£� Ð]Èq �|�|�<̧�¿±��

� |�+#áesÁü ç|�D²[¿± ¿±\+ýË ç|�yûXø�|{²¼sÁT. 

 1. yîTT<�{ì 

 2. Âs+&�e 

 3. eTÖ&�e 

 4. ×<�e 
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13. This planet is known as ‘Earth’s twin’ 

 1. Venus 

 2. Mars 

 3. Saturn  

 4. Jupiter 

 � ç>·V�ä�� »uó�Ö$T jîTT¿£Ø ¿£e\µ>± Å£L&� n+{²sÁT. 

 1. Xø�çÅ£�&�T 

 2. n+>±sÁÅ£�&�T 

 3. Xø� 

 4. >·TsÁT&�T 

 

14. Nobel Peace Prize 2018 was given to 

 1. Donna Strickland 

 2. Arthur Ashkin 

 3. Dr. Denis Mukwege and Nadia Murad 

 4. Gerard Mourou 

 2018 HÃuÉýÙ Xæ+Ü �V�QeTÜ ç>·VÓ²Ôá 

 1. &ÃH� çd¾¼¿ùý²+&� 

 2. �sÁ�sY �d¾ØH� 

 3. &�öö &î�dt eTT¿ùyûCÙ eT]jáTT q~jáT eTTs�&� 

 4. CÉs�sY¦ eTòs�y� 
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15. ‘Law Day’ in India is observed on 

 �+&�jáÖýË »»#á³¼+ sÃEµµ (Law Day)>± bÍ{ì+#û sÃE 

 1. November 21 

 2. November 26 

 3. November 30 

 4. November 15 

 

16. The author of the book ‘Artha shastra’.  

 1. Kautilya 

 2. Euclid 

 3. Archemedis 

 4. Brahmagupta 

 »nsÁ�Xæg+µ |�Úd�ï¿£ sÁ#ásTTÔá 

 1. ¿�{ì\T«&�T 

 2. jáTÖ¿ì¢&� 

 3. �]ØyîT&�dt 

 4. ç�V�²�>·T|�ï 

 

 
  

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


17. ‘Electroplating’ was invented by 

 1. William Sturgeon 

 2. Nicolo Tesla 

 3. Luigi Brugnatelli 

 4. Dr. Alan M.Turing 

 »m\ç¿Ã¼�|¢{ì+>´µqT ¿£qT>=�q y�sÁT 

 1. $*jáTy�T d�¼sÁ̈H� 

 2. �¿ÃýË fÉkÍ¢ 

 3. \ÖÐ ç�T¹>�fÉ* 

 4. &�öö nýÉH� my�T ³Ö«]+>´ 

 

18. 15th Finance Commission constituted in the year 

 15e �]�¿£ d�+|��T+ @s�ÎfÉ®q d�+eÔáàsÁeTT 

 1. 2012 

 2. 2017 

 3. 2015 

 4. 2009 
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19. India’s first inter – planetary mission, completed two years in its 
orbit around  

 1. Venus 

 2. Mars 

 3. Mercury 

 4. Jupiter 

 uó²sÁÔá<ûXø yîTT<�{ì n+ÔásÁç>·V�² ¿±sÁ«ç¿£eT+ � ç>·V�²+ #áT³Ö¼ |�]çuó�eTD+ýË  

Âs+&�T d�+eÔáàs�\qT |�P]ï#ûd�TÅ£�+~. 

 1. Xø�çÅ£�&�T 

 2. n+>±sÁÅ£�&�T 

 3. �T<ó�T&�T 

 4. ��V�²d�ÎÜ 

 

20. The commission meant for redrawing the boundaries of various 
assembly / Loksabha constituencies in India is known as 

 1. Bifurcation Commission 

 2. Decentralisation Commission 

 3. Election Commission 

 4. Delimitation Commission 

 uó²sÁÔá<ûXø+ýË $$<ó� n�d+;¢ / ýË¿ùd�uó� �jîÖÈ¿£es�Z\ |�Úq' e«edÓ�¿£sÁD  

¿=sÁÅ£� @s�Î³T #ûjáT�&�q d�+|��T+. 

 1. $uó�Èq d�+|��T+ 

 2. $¹¿+çB¿£sÁD d�+|��T+ 

 3. m��¿£\ d�+|��T+ 

 4. &�*$Tfñw�H� d�+|��T+ 
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21. “Universal Declaration of Human Rights” was declared by UNO on 
this date. 

 »»$XøÇ eÖqe V�²Å£�Ø\ ç|�¿£³qµµqT jáTT.bH�.ÿ. ç|�¿£{ì+ºq Ôû~ 

 1. 10-12-1948 

 2. 10-12-1949 

 3. 12-10-1948 

 4. 12-10-1949 

 

22. One of the following is a higher level institution that imparts 
teachers training. 

 1. IASE 

 2. CTE 

 3. DIET 

 4. TTI 

 �bÍ<ó�«jáT $<�«qT n+~+#û �q�Ôá $<�« d�+d�� 

 1. ×bbdt� 

 2. d¾{ì� 

 3. &�×�{ì 

 4. {ì{ì× 
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23. Tuberculosis is spread through 

 1. Contaminated food 

 2. Contaminated water 

 3. Contaminated air 

 4. Unhygienic environment  

 ¿£�jáTy�«~ó B� <�Çs� y�«|¾ï #î+<�TqT 

 1. ¿£\Tw¾ÔáyîT®q �V�äsÁ+ 

 2. ¿£\Tw¾ÔáyîT®q úsÁT 

 3. ¿£\Tw¾ÔáyîT®q >±* 

 4. n|�]Xø�çuó�yîT®q |�]d�s�\T 

 

24. The Commission that suggested Government to conduct 
examinations for the teacher trainees both in Principles of teaching 
and Practice teaching is 

 1. Mudaliar Commission 

 2. Kothari Commission 

 3. Hunter Commission 

 4. Wood’s Dispatch  

 #ó�çÔÃbÍ<ó�«jáTT\Å£� uË<ó�H� d�ÖçÔáeTT\�|Õq eT]jáTT uË<ó�H�uó�«d�q+�|Õ  

Âs+&�+{ìýËqT, |�̄ ¿£�\T �sÁÇV¾²+#áe\d¾q~>± ç|�uó�TÔáÇ+qÅ£� d�Öº+ºq ¿£MTw�H� 

 1. yîTT<�*jáÖsY ¿£MTw�H� 

 2. ¿=sÄ�] ¿£MTw�H� 

 3. V�²+³sY ¿£MTw�H� 

 4. �&�à &�kÍÎ#Y 
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25. There are 138 pupils in a Primary school. Number of teachers 
required as per RTE Act – 2009 are  

 ÿ¿£ çbÍ<�̧$T¿£ bÍsÄÁXæ\ýË 138 eT+~ $<�«sÁT�\T �H��sÁT. �sY{ì�  

#á³¼+ ` 2009 ç|�¿±sÁ+, � bÍsÄÁXæ\Å£� ¿±e*àq �bÍ<ó�«jáTT\ d�+K« 

 1. 5 

 2. 4 

 3. 3 

 4. 6 

 

26. The first Indian woman who got eligibility for admission in Calcutta 
University in the year 1877 as per the recommendation of Wood’s 
Report was 

 1. Savithri Bai Phule 

 2. Sarojini Naidu 

 3. Vijayalaxmi Pandit 

 4. Chandra Mukhi Basu 

 �&�à �yû~¿£ýË� d¾b�ÍsÁd�T\ �<ó�sÁ+>± 1877e d�+eÔáàsÁ+ýË ¿£\¿£Ô�ï 

$XøÇ$<�«\jáT+ýË ç|�yûXæsÁ½Ôá bõ+~q Ô=* uó²sÁrjáT eTV¾²Þø 

 1. kÍ$çÜu²sTT |��Úýñ 

 2. d�sÃ�� H�jáTT&�T 

 3. $ÈjáT\¿ì�� |�+&�{Ù 

 4. #á+ç<�eTTF �d�T 
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27. RTE Act 2009 prohibits all the following except one. 

 1. Physical punishment 

 2. Mental Harassment 

 3. Running of School with recognition 

 4. Capitation fee 

 �sY.{ì.�. #á³¼+ ` 2009, ¿ì+~ y�{ìýË ÿ¿£{ì $TqV�äsTT+º, $TÐ*q  

y�{ì� �sÃ~ó+ºq~ 

 1. uó�Ü¿£ <�+&�q 

 2. eÖqd¾¿£ yû~ó+|�Ú 

 3. bÍsÄÁXæ\\qT >·T]ï+|�ÚÔÃ q&�T|�Ú³ 

 4. ¿±|¾fñw�H� |�ÓE 

 

28. One of the following is not conducted in Kala Utsav Competitions at 
different levels 

 1. Games 

 2. Painting 

 3. Dance 

 4. Music 

 $$<ó� kÍ�sTT\ýË �sÁÇV¾²+|��&�T ¿£Þ² �Ôáày� bþ{¡\ýË ¿ì+~ y��ýË ÿ¿£{ì  

�sÁÇV¾²+|��&�<�T 

 1. �³\T 

 2. ºçÔáýñKq+ 

 3. q�Ôá«+ 

 4. d�+^Ôá+ 
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29. The provision made to out of school children to reach a stage where 
they can join in formal schools according to their age is 

 1. Success schools 

 2. Navodaya Schools 

 3. Model Schools 

 4. Bridge Schools 

 �&��jáT{ �+&û |¾\¢\T ÿ¿£ kÍ�sTT¿ì #ûsÁT¿=� ÔáeT ejáTd�TàÅ£� ÔáÐq  

ÔásÁ>·ÜýË �jáTÔá bÍsÄÁXæ\ýË #ûsÁ&��¿ì #ûjáT�&�q @s�Î³T. 

 1. d�Â¿àdt bÍsÄÁXæ\\T 

 2. qyÃ<�jáT bÍsÄÁXæ\\T 

 3. �<�sÁô bÍsÄÁXæ\\T 

 4. ç_&�̈ bÍsÄÁXæ\\T 

 

30. “Badiki Vastha” programme was launched on 

 1. January 2017 

 2. March 2017 

 3. February 2017 

 4. April 2017 

 »»�&�¿ì ekÍïµµ |�<�̧¿£+ çbÍsÁ+_ó+|��&�q~ 

 1. Èqe] 2017 

 2. eÖ]Ì 2017 

 3. |�¾ç�e] 2017 

 4. @ç|¾ýÙ 2017 
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31. You have identified Keerthana as a primary level educable, mentally 
retarded girl, because she was in the IQ level of  

¿¡sÁïqqT çbÍ<�̧$T¿£kÍ�sTT $<�«qT bõ+<�>·*¹> n\Î �T~ÆeÖ+<�«Ôá>·\  

neÖ�sTT>± MTsÁT >·T]ï+#�sÁT. ¿±sÁDyûTeTq>± �yîT ç¿ì+~ ç|�C²ã\_Ý 

kÍ�sTT� ¿£*Ð eÚ+~ 

 1. 26 - 49 

 2. 50 - 70 

 3. < 25 

 4. 90 - 109 

  

32. Raju was warned by his classmate not to behave like an animal. 
According to Sigmund Freud, the state of personality of Raju is 

 1. Id 

 2. Ego 

 3. Super ego 

 4. Morality 

 È+ÔáTeÚý² ç|�e]ï+#áe<�Ý� s�EqT nÔá� ¿±¢dtyûT{Ù �V²#áÌ]+#�&�T. d¾>·�+&�  

çb�ÍsTT&� ç|�¿±sÁ+ s�E jîTT¿£Ø eTÖ]ïeTÔáÇ d¾�Ü 

 1. nºÔáTï 

 2. nV�²+ 

 3. n<�«V�²+ 

 4. HîÕÜ¿£Ôá 
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33. You wish to assess the aptitude of Meghana in gross movements of 
hands and fingers. The following assessment tool is more 
appropriate - 

 1. Purdue Pegboard test 

 2. Good enough drawing test 

 3. Raven’s progressive matrices test 

 4. Pintner-Paterson scale 

 yûT|��Tq jîTT¿£Ø #ûÔáT\T, yûÞø�ß yîTTÔáï+ ¿£<�*¿£\ýË d�V�²È kÍeTs��«�� MTsÁT  

eT~+|�Ú #ûjáÖ\qTÅ£�H��sÁT. B�¿Ãd�+ ÔáÐq �|�¿£sÁD+  

 1. |�sY&�Ö« �|>´ uËsY¦ |�̄ ¿£� 

 2. >·T&� mq|�t ç&�sTT+>´ |�̄ ¿£� 

 3. ¹seH�à çbþçÂ>d¾y� eÖçfÉd¾dt |�̄ ¿£� 

 4. |¾+³�sỲ bÍ³sYd�H� �dØýÙ 

 

34. Bharat, a student of Intermediate failed in his examinations, always 
assumes that he is fit for nothing, despair and phobic. The state of 
Bharat is 

 1. Depression  

 2. Hypochondriasis  

 3. Neurasthenia  

 4. Hysteria 

 uó�sÁÔY, �+³sY |�̄ ¿£�ýË¢ �rïsÁT�&�T ¿±¿£bþe&�+ÔÃ |�P]ï>± �s�Xø|�&�bþe&�+,  

HûHî+<�TÅ£L |��¿ìs�� y�&�qqT¿Ãe&�+, nÜ>± uó�jáT|�&�³+ ÈsÁT>·TÔÃ+~.  

uó�sÁÔY jîTT¿£Ø d¾�Ü ç¿ì+~ <��¿ì #î+<�TqT. 

 1. eÖ+<�«+ 

 2. d�ÇXø̄ sÁ <�T¥Ì+Ôá 

 3. <êsÁÒ\« ç|�Ü#ásÁ«\T 

 4. V¾²dÓ¼]jáÖ 
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35. Using knowledge of Mathematics learnt in the classroom to prepare 
a budget for a trip is 

 1. Syntax 

 2. Perception 

 3. Primacy effect 

 4. Transfer of learning 

 ÔásÁ>·Ü>·~ýË HûsÁTÌÅ£�q� >·DìÔá C²ãH��� ÿ¿£ jáÖçÔáÅ£� njûT« KsÁTÌ ÔájáÖ¯¿ì  

$�jîÖÐ�dï n~  

 1. y�¿£«�s��D+ 

 2. ç>·V¾²+#á&�+ 

 3. çbÍ<ó�q«Ô� ç|�uó²e+ 

 4. nuó�«d�q�~© 

 

36. When we listen to a lecture and do not revise the topic, we 
remember very little of the contents spoken even within a few days. 
This is because - 

 1. Short– term memory 

 2. Unconscious memory  

 3. Long- term memory 

 4. Repressed memory  

 eTq+ ÿ¿£ $w�jáT+�|Õ �|�H�«kÍ�� $�, |�ÚqXøÌsÁD (]$ÈH�)  

#ûjáTq|�Ú&�T, ¿=~Ý sÃE\¹¿ #î|�Î�&�q$w�jáT+ýË nÜ ÔáÅ£�Øe eÖçÔáyûT  

d�� �ÜýË eÚ+#áT¿Ã>·\+, B�¿ì ¿±sÁD+ 

 1. d�Ç\Î¿±*¿£ d�� �Ü 

 2. n#ûÔáq d�� �Ü 

 3. BsÁé¿±\ d�� �Ü 

 4. <�eTq+ #ûjáT�&�q d�� �Ü 
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37. Headmaster of a school advised his teachers to promote creativity 
among the students. One of the following is not related to the 
characteristics of creativity  

 1. Adaptability and a sense of adventure 

 2. Lack of foresight 

 3. Lack of tolerance for boredom and ambiguity  

 4. A high degree of sensitivity towards problems. 

 ÿ¿£ bÍsÄÁXæ\ ç|�<ó�HÃbÍ<ó�«jáTT&�T $<�«sÁT�ýË¢ d��ÈH�Ôá�¿£ÔáqT  

çbþÔáàV¾²+#áe\d¾q~>± Ôáq �bÍ<ó�«jáTT\qT d�Öº+#îqT. ç¿ì+~ y��ýË  

ÿ¿£{ì d��ÈH�Ôá�¿£ÔáÅ£� d�+�+~ó+#á� \¿£�D+ 

 1. nqT>·TD«Ôá eT]jáTT kÍV�²kþ�|Ôá >·TD+ 

 2. eTT+<�T#áÖ|�Ú ýñ¿£bþe&�+ 

 3. $d�T>·T<�\, d�+~>·ÆÔá\ýË d�V�²q+ ýË|¾+#á&�+  

 4. d�eTd�« >·T]+º mÅ£�Øe d�T��ÔáÔáÇ+ 

 

38. Umadevi, who sees her father throwing utensils around simply 
because he has not been served food of his taste, learnt such 
behaviour. This type of learning is - 

 1. Social learning 

 2. Learning by insight 

 3. Programmed learning 

 4. Trial and error method of learning 

 �eÖ<û$ ÔáqÔá+ç&� sÁTº¿£sÁyîT®q �V�äs��� e&�¦+#áýñ<�� ÐHî�\qT  

$d¾]yûjáT&��� #áÖd¾ Ô�qTÅ£L&� � ç|�esÁïqqT HûsÁTÌ¿Ãe&�+ ç¿ì+~ nuó�«d�q  

sÁ¿±�¿ì #î+<�TqT. 

 1. kÍ+|�¾T¿£ nuó�«d�q+ 

 2. n+ÔásY<��w¾÷ nuó�«d�q+ 

 3. ¿±sÁ«ç¿£eTjáTTÔá nuó�«d�q+ 

 4. jáTÔá�`<Ãw� nuó�«d�q+ 
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39. Kamala, Padma and Sushanth of 8th class are highly intelligent in 
understanding the inter relations of concepts through pictures. The 
teacher identified their intelligence as one of the following. 

 1. Bodily kinesthetic intelligence 

 2. Visual Spatial intelligence 

 3. Intrapersonal intelligence 

 4. Naturalistic intelligence 

 8e ÔásÁ>·Ü #á<�TeÚÔáTq� ¿£eT\, |�<�� eT]jáTT d�TXæ+ÔY\T ºçÔ�\ <�Çs�  

uó²eq\ eT<ó�« d�+�+<ó�\qT ne>±V�²q #ûd¾¿=Hû �q�Ôá ç|�Èã ¿£\y�sÁT.  

�bÍ<ó�«jáTT&�T y�] ç|�ÈãqT � ç¿ì+~y��ýË ÿ¿£{ì>± >·T]ï+#�&�T n~. 

 1. Xæ¯sÁ¿£ ¿£+&�sÁ d��s�ôÔá�¿£ ç|�Èã 

 2. <��Xø« çbÍ<û¥¿£ ç|�Èã 

 3. e«¿£ï+ÔásÁZÔá ç|�Èã 

 4. ç|�¿£�Ü d�+�+~óÔá ç|�Èã 
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40. Anthony is a student of class X. He has a practice that whenever he 
requires to solve a problem considers the problem as a whole and 
after being assessed a whole, may be tackled for solution on 
piecemeal basis. This type of learning theory involved here is - 

 1. Classical conditioning  

 2. Operant conditioning 

 3. Insightful learning 

 4. Imitation learning 

 �+<̧Ã� |�<�e ÔásÁ>·Ü $<�«]�. �Ôá�¿ì ÿ¿£ n\y�³T @eT+fñ ÿ¿£ d�eTd�«qT  

|�]w�Ø]+#áe\d¾ eºÌq|�Ú&�T, d�eTd�«qT yîTTÔáï+>± n<ó�«jáTq+ #ûd¾, ÔásÁTy�Ôá  

yîTTÔáï+>± eT~+|�Ú#ûd¾ ned�sÁyîT®Ôû d�eTkÍ« |�]cÍØsÁ+ ¿Ãd�+ º�� uó²>±\T  

#ûd¾ |�]w�Ø]+#á&�+ ` �+<�T �$T&� eÚq� nuó�«d�q d¾<�Æ+Ôá+ ` 

 1. d�+ç|�<�jáT ��+<ó�qeTT 

 2. ¿±sÁ«kÍ<ó�¿£ ��+<ó�qeTT 

 3. n+ÔásY<��w¾¼ nuó�«d�qeTT 

 4. nqT¿£sÁD nuó�«d�qeTT 
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41. The characteristics of image formed by pinhole camera 

 1. Erect and real 

 2. Erect and virtual 

 3. Inverted and real 

 4. Inverted and virtual 

 |¾H�V�²ÃýÙ Â¿yûTs�ýË @sÁÎ&û ç|�Ü_+� \¿£�D²\T 

 1. �{²sÁT, �È 

 2. �{²sÁT, $T<ó�« 

 3. Ôá\ç¿ì+<�T\T, �È 

 4. Ôá\ç¿ì+<�T\T, $T<ó�« 

 

42. If Nichrome wire has a resistance of 10 Ω, then resistance of another 
Nichrome wire whose length is 3 times and area of cross section is 4 
times of the first wire is 

 ÿ¿£ �ç¿Ãy�T r>· �sÃ<�+ 10Ω. yîTT<�{ì r>·Å£� 3 Âs³T¢ bõ&�eÚ eT]jáTT  

4 Âs³T¢ eT<ó�«#ûÌ<�q yîÕXæ\«+ ¿£*Ðq eTs=¿£ �ç¿Ãy�T r>· �sÃ<ó�+ $\Te 

 1. 4.5 Ω  

 2. 5.5 Ω 

 3. 6.5 Ω 

 4. 7.5 Ω 
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43. In one of the following cases of motion, the distance moved and 
magnitude of displacement are equal, if 

 1. The car is moving on straight path  

 2. The car is moving in circular path 

 3. The pendulum moving ‘to and fro’ 

 4. The earth is revolving around Sun 

 ç¿ì+~ #á\H�\ýË ÿ¿£ <��ýË <�ÖsÁ+ eT]jáTT kÍ�qçuó�+Xø |�]eÖD+  

d�eÖqeTT 

 1. d�sÁÞø¹sU² eÖsÁZ+ýË ç|�jáÖDìd�Tïq� ¿±sÁT 

 2. e�Ô�ï¿±sÁ eÖsÁZ+ýË ç|�jáÖDìd�Tïq� ¿±sÁT 

 3. eTT+<�TÅ£� yîqT¿£Å£� ¿£<�T\TÔáTq� ýË\¿£+ 

 4. d�ÖsÁT«� #áT³Ö¼ ÜsÁT>·TÔáTq� uó�Ö$T 

 

44. If light ray makes an angle of 30° with the surface of Plane mirror, 
then the angle of reflection is  

 ÿ¿£ d�eTÔá\ <�sÁÎD Ôá\+ÔÃ 30° \ ¿ÃD+ #ûd�Öï ÿ¿£ ¿±+Ü ¿ìsÁD+ |�Ôáq+  

#î+~q|�ð&�T |�s�esÁïq ¿ÃD+ $\Te 

 1. 30° 

 2. 60° 

 3. 90° 

 4. 0° 
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45. The expanded form of MCB is 

 1. Main Connect Breaker  

 2. Miniature Current Breaker 

 3. Miniature Circuit Breaker 

 4. Main Circuit Breaker 

 MCB $d�ï �Ôá sÁÖ|�+ 

 1. yîTsTTH� ¿£Hî¿ù¼ çuñ¿£sY 

 2. MT�jûT#ásY ¿£sÁ+{Ù çuñ¿£sY 

 3. MT�jûT#ásY d�sÁÖØ «{Ù çuñ¿£sY 

 4. yîTsTTH� d�sÁÖØ «{Ù çuñ¿£sY 

 

46. A boy is whirling a stone tied with a string in horizontal circular 
path. If the string breaks, the stone 

 1. will continue to move in circular path 

 2. will move along a straight line towards the centre of circle. 

 3. will move along a straight line tangential to circular path 

 4. will move along a straight line with 60° to circular path. 

 ÿ¿£ u²\T&�T <�s��¿ì ÿ¿£ s�sTT� ¿£{ì¼ uó�Ö$T¿ì ¿ì�ÜÈ d�eÖ+ÔásÁ+>±  

e�Ô�ï¿±sÁ eÖsÁZ+ýË Ü|�ð#áTq�|�ð&�T, <�sÁ+ ÔîÐÔû � s�sTT 

 1. e�Ô�ï¿±sÁ eÖsÁZ+ýËHû ÜsÁT>·TÔá+~. 

 2. e�Ô�ï¿±sÁ eÖsÁZ ¹¿+ç<�+ yîÕ|�Ú d�sÁÞø¹sU² eÖsÁZ+ýË ç|�jáÖDìd�Tï+~. 

 3. e�Ô�ï¿±sÁ eÖs�Z�¿ì >·\ d�ÎsÁô¹sK yîÕ|�Ú d�sÁÞø¹sU² eÖsÁZ+ýË  

ç|�jáÖDìd�Tï+~. 

 4. e�Ô�ï¿±sÁ eÖs�Z�¿ì 60° \ ¿ÃD+ýË d�sÁÞø¹sU² eÖsÁZ+ýË  

ç|�jáÖDìd�Tï+~. 
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47. The size of the tail of the comet, as it approaches the Sun, 

 1. will be increasing 

 2. will be decreasing 

 3. remains the same 

 4. disappears 

 d�ÖsÁT«� d�MT|¾d�Tïq� ¿=\~ ÔÃ¿£ #áT¿£Ø jîTT¿£Ø ÔÃ¿£ bõ&�eÚ 

 1. �|sÁT>·TÔáT+~ 

 2. Ôá>·TZÔáT+~ 

 3. eÖsÁ<�T 

 4. eÖjáTeTeÚÔáT+~ 

 

48. The minimum distance between source of sound and a reflecting 
body to hear an echo in air is (velocity of sound in air is 330 m/sec.) 

 >±*ýË ç|�Ü<ó�Ç�� $q&��¿ì <ó�Ç� Èq¿£eTTqÅ£�, |�s�esÁïq Ôá\eTTqÅ£� �+&�

e\d¾q ¿£úd� <�ÖsÁ+ (>±*ýË <ó�Ç� yû>·+ R 330 MT/�d¿£qT) 

 1. 15.6 m 

 2. 16.5 m 

 3. 33 m 

 4. 1.56 m 
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49. If glass rod is rubbed with silk cloth, then 

 1. glass rod acquire positive charge and silk cloth acquire 
negative charge 

 2. glass rod acquire negative charge and silk cloth acquire 
positive charge 

 3. both glass rod and silk cloth acquire positive charge 

 4. both glass rod and silk cloth acquire negative charge 

 ÿ¿£ >±E ¿£&�¦� d¾\TØ >·T&�¦ÔÃ sÁT~Ýq 

 1. >±E ¿£&�¦ <ó�H�yûXæ�� eT]jáTT d¾ýÙØ >·T&�¦ �TTD²yûXæ�� bõ+<�TÔ�sTT 

 2. >±E ¿£&�¦ �TTD²yûXæ�� eT]jáTT d¾ýÙØ >·T&�¦ <ó�H�yûXæ�� bõ+<�TÔ�sTT 

 3. >±E ¿£&�¦, d¾ýÙØ >·T&�¦ Âs+&�Ö <ó�H�yûXæ�� bõ+<�TÔ�sTT 

 4. >±E ¿£&�¦, d¾ýÙØ >·T&�¦ Âs+&�Ö �TTD²yûXæ�� bõ+<�TÔ�sTT 

 

50. The average speed of car moves along a straight line from rest with 
constant acceleration ‘a’ for ‘t’ seconds is 

ÿ¿£ ¿±sÁT d�eTÔáÇsÁD+ »aµ ÔÃ �XøÌ\d¾�Ü qT+&� �jáT\T<û] »tµ �d¿£q¢ bÍ³T  

d�sÁÞø¹sU² eÖsÁZ+ýË ç|�jáÖDì+ºq, <�� d�s�d�] e&� 

 1. 
2

2
at  

 2. 
2
at  

 3. 22at  

 4. at  
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51. If a car is travelling west wards with a constant speed of 40 m/sec, 
then the resultant force acting on it is 

 ÿ¿£ ¿±sÁT 40 MT/�d d�eTe&�ÔÃ |�&�eTsÁyîÕ|�Ú ç|�jáÖDìd�Tï+fñ <���|Õ >·\  

|��*Ôá �\+ 

 1. 20 N 

 2. -20 N 

 3. 0 N 

 4. 196 N 

 

52. Distance covered by a vertically projected body in the last second of 
its upward motion  2( 10 / )g m s=  

 �³¼ �\TeÚ>± �|Õ¿ì $d¾]q ed�TïeÚ }sÁ�Ç ~XøýË #á*+#û³|�ð&�T ºe]  

�d¿£qTýË n~ ç|�jáÖDì+ºq <�ÖsÁ+ 

 1. 5 m 

 2. 10 m 

 3. 15 m 

 4. 20 m 
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53. In an oscillating simple pendulum, at the mean position 

 1. Potential energy is maximum and kinetic energy is minimum 

 2. Potential energy is minimum and kinetic energy is maximum 

 3. Both potential and kinetic energies are maximum 

 4. Both potential and kinetic energies are minimum 

 ¿£+|¾d�Tïq� \|��TTýË\¿£+ýË $s�eTkÍ�q+ e<�Ý 

 1. d¾�ÜXø¿ìï >·]w�÷+ eT]jáTT >·ÜXø¿ìï ¿£�w�÷+ 

 2. d¾�ÜXø¿ìï ¿£�w�÷+ eT]jáTT >·ÜXø¿ìï >·]w�÷+ 

 3. d¾�Ü, >·Ü XøÅ£�ï\T Âs+&�Ö >·]w�÷+ 

 4. d¾�Ü, >·Ü XøÅ£�ï\T Âs+&�Ö ¿£�w�÷+ 

 

54. The frequency of source of sound is 15Hz. The number of times 
does it vibrate in one minute 

 ÿ¿£ <ó�Ç� È¿£q+ qT+&� $&�T<�\sTTq <ó�Ç� båq'|�Úq«+ 15Hz. nsTTq n~ 

1 �eTTw�+ýË #ûjáTT ¿£+|�H�\ d�+K« 

 1. 4 

 2. 15 

 3. 150 

 4. 900 
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55. Heat energy required to change 1 kg of ice to water without change 
in its temperature is 

 �cþ�ç>·ÔáýË eÖsÁTÎ ýñÅ£�+&� 1 ¿ìööç>± eT+#áTqT úsÁT>± eÖsÁTÌ³Å£�  

¿±e\d¾q �cþ�ç>·Ôá 

 1. 3.36 × 105 J 

 2. 3.42 × 10-5 J 

 3. 3.36 × 104 J 

 4. 3.36 × 10-3 J 

 

56. A concave mirror of focal length ‘f’ in air is kept in a medium of 
refractive index 2. The focal length of the mirror in the medium 

 >±*ýË »fµ H�uó²«+ÔásÁ+ >·\ ÿ¿£ |�Ú{²¿±sÁ <�sÁÎDeTTqT eç¿¡uó�eq >·TD¿£+ »2µ

>·\ jáÖq¿£+ýË �+#�sÁT. � jáÖq¿£+ýË <�sÁÎD H�uó²«+ÔásÁ+ 

 1. f 

 2. 2f 

 3. 3f 

 4. 4f 
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57. Parallel beam of light rays falling on convex lens with certain angle 
with the principal axis, converges at 

 1. focus 

 2. centre of curvature 

 3. A point on focal plane 

 4. A point on principal axis 

 ç|�<ó�H�¿�±�¿ì ¿=+Ôá ¿ÃD+ #ûd�Öï e#ûÌ d�eÖ+ÔásÁ ¿±+Ü ¿ìsÁD²\T Å£�+uó²¿±sÁ 

¿£³¿£+�|Õ |�Ôáq+ #î+~, eç¿¡uó�eq+ ÔásÁTy�Ôá ¹¿+çB¿£]+#á�&û kÍ�q+ 

 1. H�_ó 

 2. eç¿£Ô�¹¿+ç<�+ 

 3. H�;ójáTÔá\+ �|Õ @<û� _+<�TeÚ 

 4. ç|�<ó�H�¿£�+ �|Õ @<û� _+<�TeÚ 

 

58. Electrical shock is the resultant effect of  

 1. potential difference and electric current only 

 2. potential difference and resistance only 

 3. electric current and resistance only 

 4. electric current, potential difference and resistance 

 $<�T«ÔY |��ÖÔá+ � ç¿ì+~ y�� jîTT¿£Ø |��*Ôá ç|�uó²e+ 

 1. bõ³�üjáTýÙ uóñ<�+, $<�T«ÔY ç|�y�V�²+ eÖçÔáyûT 

 2. bõ³�üjáTýÙ uóñ<�+, �sÃ<ó�+ eÖçÔáyûT 

 3. $<�T«ÔY ç|�y�V�²+, �sÃ<ó�+ eÖçÔáyûT 

 4. $<�T«ÔY ç|�y�V�²+, bõ{�üjáTýÙ uóñ<�+ eT]jáTT $<�T«ÔY �sÃ<ó�+ 
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59. Unlike AC generator, DC generator consists of  

 1. Carbon brushes 

 2. Magnets 

 3. Slip rings 

 4. Commutator  

 AC Èq¹s³sYÅ£� _óq�+>±  DC Èq¹s³sY ¿£*Ð �+&û~ 

 1. ¿±sÁÒH� ç�wt\T 

 2. njáTkÍØ+Ô�\T 

 3. d¾¢|t]+>́à 

 4. ¿±eTT«fñ³sY 

 

60. If the angle of prism is 60° and its refractive index is 2 , then the 
angle of minimum deviation of light in the prism is     

 60° |�³¼¿£ ¿ÃD+, 2 eç¿¡uó�eq >·TD¿£+ ¿£*Zq |�³¼¿£+ýË ¿±+Ü bõ+<û  

¿£�w�÷ $#á\q ¿ÃD+ 

 1. 0° 

 2. 15° 

 3. 30° 

 4. 45° 
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61. The S.I unit of a physical quantity is [Jm–2]. The dimensional 
formula for that quantity is   

 ÿ¿£ uó�Ü¿£s�¥ jîTT¿£Ø S.I ç|�eÖD+ [Jm–2] nsTTÔû � uó�Ü¿£s�¥  

$TÜb�ÍsÁT�ý² 

 1. 1 2M L-é ùë û  

 2. 1 0 2M L T -é ùë û  

 3. 0 2 1M L T -é ùë û  

 4. 1 1 2M L T- -é ùë û  

  
 

62. What is the angle between A B+
ur ur

and A
ur

´B
ur

 

 A B+
ur ur

 eT]jáTT A
ur

´B
ur

 \ eT<ó�« ¿ÃD+ 

 1. 0 

 2. 
4
p  

 3. 
2
p  

 4. p  

 

63. A force of 8N is applied on a body of mass 2kg at rest for 10s. Its 
kinetic energy is  

 �XøÌ\ d¾�ÜýË �q� 2kg ç<�e«s�¥ ¿£*Ðq ÿ¿£ ed�TïeÚ�|Õ 8N �ý²��  

10 �d¿£qT\ bÍ³T ç|�jîÖÐ+ºq � ed�TïeÚ >·ÜÈXø¿ìï 

 1. 1600J 

 2. 800J 

 3. 400J 

 4. 200J 
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64. A straight thin uniform rod of length 8m and mass 12kg is bent into 
square. Its moment of inertia about one side is 

 8m bõ&�eÚ eT]jáTT 12 kg ç<�e«s�¥ ¿£*Ðq ÿ¿£ d�q�� @¿£̄ Ü ¿£&�¦ ÿ¿£  

#áÔáTsÁçkÍ¿±sÁ sÁÖ|�+ýË eÖsÁÌ�&�q~. nsTTq <�� @<û� ÿ¿£ uó�TÈeTT  

>·T+&� bþjûT n¿£�+ |�sÁ+>± È&�ÔáÇ çuó²eT¿£+ 

 1. 20 kgm2 

 2. 10 kgm2 

 3. 36 kgm2 

 4. 3 kgm2 

  

65. The temperature at which the reading on Celsius scale is thrice that 
on Fahrenheit scale 

 � �cþ�ç>·Ôá e<�Ý �d*àjáTdt eÖq+ýË ¯&�+>·T b�ÍsÁH�VÓ²{Ù eÖq+ýË ¯&�+>·T 

¿£+fñ eTÖ&�T Âs³T¢ �+³T+~ 

 1. 7 °C   

 2. – 7.27 °C 

 3. – 27 °C 

 4. – 21.82 °C 

 

66. The change in internal energy, when 10g of air is heated from 30°C 
to 40°C (Cv= 0.172 kcal/kgK, J = 4200 J/kcal) 

 10g >±*� 30°C qT+&� 40°C Å£� yû&�#ûd¾q n+ÔásÁZÔá Xø¿ìïýË eÖsÁTÎ  

(Cv= 0.172 kcal/kgK, J = 4200 J/kcal) 

 1. 62.24 J 

 2. 72.24 J 

 3. 52.24 J 

 4. 82.24 J 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


67. The distances of two planets from the sun are 1012m and 1010m 
respectively. The ratio of the time periods of these planets is 

 d�ÖsÁT«� qT+&� Âs+&�T ç>·V�ä\ <�Ös�\T esÁTd�>± 1012m eT]jáTT 1010m  

nsTTq � ç>·V�ä\ �esÁïq ¿±ý²\ �w�ÎÜï 

 1. 1000 : 1 

 2. 100 : 1 

 3. 10 : 1 

 4. 1 : 1 

 

68. Stream-line flow is more likely for liquids with 

 1. low density and low viscosity 

 2. high viscosity and low density 

 3. high viscosity and high density 

 4. low viscosity and high density 

 <ó�s�¹sU² ç|�y�V�²+ mÅ£�Øe>± �+&û ç<�y�\T M{ì� ¿£*Ð �+{²sTT 

 1. ÔáÅ£�Øe kÍ+ç<�Ôá eT]jáTT ÔáÅ£�Øe d¾�>·ÆÔá 

 2. mÅ£�Øe d¾�>·ÆÔá eT]jáTT ÔáÅ£�Øe kÍ+ç<�Ôá 

 3. mÅ£�Øe d¾�>·ÆÔá eT]jáTT mÅ£�Øe kÍ+ç<�Ôá 

 4. ÔáÅ£�Øe d¾�>·ÆÔá eT]jáTT mÅ£�Øe kÍ+ç<�Ôá 
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69. The force on a body executing SHM is 2N, when the displacement is 
2cm. If the amplitude of oscillation is 5cm, the total energy 
associated with the SHM is 

 d�sÁÞøV�²s�Ôá�¿£ #á\q+ýË �q� ÿ¿£ ed�TïeÚ�|Õ 2N �\+ ç|�jîÖÐ+ºq �  

ed�TïeÚ 2cm kÍ�qçuó�+Xø+ bõ+~q~. � ¿£+|�qeTT jîTT¿£Ø ¿£+|�q |�]$TÜ  

5cm nsTTq � ed�TïeÚ jîTT¿£Ø yîTTÔáï+ Xø¿ìï 

 1. 0.125 J 

 2. 0.25 J 

 3. 0.3755 J 

 4. 0.5 J 

  

70. Coefficient of volume expansion of a vessel is greater than the liquid 
it contains. If the vessel is heated for long time, the level of liquid in 
the vessel 

 1. first rises and then falls 

 2. first falls and then rises 

 3. falls 

 4. rises 

 bÍçÔá |��Tq|�]eÖD y�«¿Ã#á >·TD¿£+ <��ýË� ç<�e+ ¿£+fñ mÅ£�Øe eÚq�~.  

nsTTÔû � bÍçÔáqT mÅ£�Øe �d|�Ú yû&� #ûd¾q bÍçÔáýË� ç<�eeT³¼+ 

 1. yîTT<�³ �|]Ð ÔásÁTy�Ôá Ôá>·TZÔáT+~ 

 2. yîTT<�³ ÔáÐZ ÔásÁTy�Ôá �|sÁT>·TÔáT+~ 

 3. Ôá>·TZÔáT+~ 

 4. �|sÁT>·TÔáT+~ 
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71. Eight mercury droplets having a radius of 1 mm and a charge of 
0.066 pC each merge to form one droplet, its potential is: 

 1 mm y�«kÍsÁ�+ eT]jáTT 0.066pC �yûXø+ ¿£*Ðq m�$T~ bÍ<�sÁd�  

_+<�TeÚ\T ¿£*d¾ ÿ¿£ _+<�TeÚ>± @sÁÎ&�q � _+<�TeÚ bõ³�üjáTýÙ 

 1. 4.8 V  

 2. 1.2 V 

 3. 3.6 V 

 4. 2.4 V 

  

72. If ε0 and μ0 are the permittivity and the permeability in a free space, 
ε and μ are the corresponding quantities in medium, the index of 
refraction of the medium 

 �dÇ#�ÌÛ+Ôás�Þø �|]�{ì${ì eT]jáTT �|]�jáT_*{ì\T esÁTd�>± ε0  eT]jáTT μ0, 
jáÖq¿£+ �|]�{ì${ì eT]jáTT �|]�jáT_*{ì\T esÁTd�>± ε eT]jáTT μ nsTTÔû 

� jáÖq¿£+ eç¿¡uó�eq >·TD¿£+ 

 1. 0

0

e m
em

 

 2. 
0

e
e

 

 3. 0 0e m
em

 

 4. 
0 0

em
e m  
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73. A battery of internal resistance 4Ω is connected to a network of 
resistance as shown. In order that the maximum power can be 
delivered to the network, the value of R in ohm should be  

 4Ω n+Ôá]�sÃ<ó�+ ¿£*Ðq ÿ¿£ u²«³¯� ÿ¿£ �sÃ<ó� e\jáT+ýË |�³eTTýË  

#áÖ|¾q $<ó�+>± ¿£\T|��&�q~. � e\jáT+ýË >·]w�¼ kÍeTsÁÆ«+ |�+|¾Dì È]Ðq, 
R $\Te zy�T\ýË 

 1. 4
9

 

 2. 2 

 3. 8
3

 

 4. 18 

 

74. The height of transmitting antenna, if the T.V telecast is to cover a 
radius of 128km is 

 T.V ç|�kÍsÁ+ 128 km y�«kÍsÁ� |�]~¸ýË ç|�kÍsÁ+ ¿±eýÉqq� ç|�kÍsÁ  

jáÖ+fñH� �+&�e\d¾q mÔáTï 

 1. 1560 m 

 2. 1050 m  

 3. 1280 m 

 4. 79 m 
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75. In a medium in which a transverse progressive wave is travelling, 
the phase difference between two points with a separation of 1.25cm 
is π/y. If the frequency of wave is 1000 Hz, its velocity will be: 

 ÿ¿£ jáÖq¿£+ýË ÜsÁ«¿ù |�ÚsÃ>±$T ÔásÁ+>·eTT ç|�jáÖDìd�Tïq�|�ð&�T Âs+&�T  

_+<�TeÚ\ eT<ó�« <�ÖsÁ+ 1.25cm >± �q�|�Ú&�T <�Xæuñ<ó�+ π/y. � ÔásÁ+>·  

båq'|�Úq«+ 1000 Hz nsTTq <�� yû>·+ 

 1. 100 m/s  

 2. 125 m/s 

 3. 104 m/s 

 4. 10 m/s 

  

76. When capacitor is connected to A.C source the emf 

 1. leads current by π radian  

 2. leads current by π/2 radian 

 3. leads current by π/4 radian 

 4. lags current by π/2 radian 

 ÿ¿£ Â¿|¾d¾³sYqT A.C Èq¿£eTTqÅ£� ¿£\|¾q, $<�«ÔY#�ÌÛ\¿£ �\+ 

 1. $<�T«ÔY ç|�y�V�²eTTqÅ£� π ¹s&�jáTH�\T eTT+<�T �+³T+~ 

 2. $<�T«ÔY ç|�y�V�²eTTqÅ£� π/2 ¹s&�jáTH�\T eTT+<�T �+³T+~ 

 3. $<�«ÔY ç|�y�V�²eTTqÅ£� π/4 ¹s&�jáTH�\T eTT+<�T �+³T+~ 

 4. $<�T«ÔY ç|�y�V�²eTTqÅ£� π/2 ¹s&�jáTH� yîqT¿£�&� �+³T+~ 
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77. An electron revolves in a circle of radius 0.4 A° with a speed of 
106ms–1 in a hydrogen atom. The magnetic field produced at the 
center of the orbit due to motion of the electron, (in tesla) is 

 �VÕ²ç&ÃÈH� |�sÁeÖDTeÚýË ÿ¿£ m\ç¿±¼H� 0.4 A° y�«kÍsÁ�eTTq� ÿ¿£ e�Ôáï+ýË  

106ms–1 
 yû>·+ýË |�]çuó�$Td�Tï+~. � m\ç¿±¼H� >·eTq+ e\q e�Ôáï¹¿+ç<�+  

e<�Ý njáTkÍØ+Ôá ¹¿�çÔá rçeÔá (fÉkÍ¢\ýË) 

 1. 0.1 

 2. 1.0 

 3. 10 

 4. 100 

  

78. The angular momentum of an electron in the hydrogen atom is 3h
2π

. 

Here h is Plank’s constant. The kinetic energy of this electron is 

 �VÕ²ç&ÃÈH� |�sÁeÖDTeÚýË ÿ¿£ m\ç¿±¼H� ¿ÃD¡jáT ç<�e«yû>·+ 
3h
2π

. �#áÌ³ h  

bÍ¢+¿ù d¾�s�+¿£+ nsTTq � m\ç¿±¼H� >·ÜXø¿ìï 

 1. 4.35 ev 

 2. 1.51 ev 

 3. 3.4 ev 

 4. 6.8 ev 
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79. The half-life of 198Au is 2.7 days. Calculate the activity of 1.00mg of 
198Au. (Take atomic weight of 198Au to be 198 g mol–1) 

 
198Au jîTT¿£Ø nsÁ�J$Ôá ¿±\+ 2.7 sÃE\T nsTTÔû 1.00mg 198Au eTÖ\¿£+ 

jîTT¿£Ø ç¿ìjáÖo\Ôá (
198Au jîTT¿£Ø |�sÁeÖDT uó²sÁ+R198 g mol–1

)  

 1. 640 Ci 

 2. 220 Ci 

 3. 310 Ci 

 4. 240 Ci 

  

80. Lenz’s law is in accordance with the law of conservation of 

 1. electric current 

 2. energy 

 3. electro motive force 

 4. electric charge 

 ýÉ+CÙ �jáTeT+ � �Ôá«ÔáÇ �jáTeÖ�¿ì nqT>·TD+>± �+³T+~ 

 1. $<�T«ÔY ç|�y�V�²+ 

 2. Xø¿ìï 

 3. $<�T«ÔY#�ÌÛ\¿£ �\+ 

 4. $<�T«<�yûXø+ 
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81. Method of separation of Methyl Alcohol (bp 64°C) and Acetone  
(bp 56°c) mixture is 

 1. Separating funnel 

 2. Simple distillation 

 3. Fractional distillation 

 4. Evaporation 

 $T<î̧ÕýÙ �\ØV�äýÙ (bp 64°C) eT]jáTT md¾{ËH� (bp 56°c) \ $TçXøeÖ��  

yûsÁT#ûjáT&��¿ì y�&û |�<�ÆÜ   

 1. yûs�Î³T >·s�³T |�<�ÆÜ  

 2. kÍ<ó�sÁD �dÇ<�q+ 

 3. n+¥¿£ �dÇ<�qeTT 

 4. �>·TsÁT³  

 

82. Ratio of RMS speed of O2 molecule to that of H2 molecule at a given 
temperature is 

 O2 jîTT¿£Ø RMS yû>·+, H2 jîTT¿£Ø RMS yû>·+ eT<ó�« �w�ÎÜï 

 1. 1 : 4 

 2. 1 : 16 

 3. 16 : 1 

 4. 4 : 1 
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83. It is formed when addition polymerization of ethene takes place at 
high pressure and 350k-570k temperature in presence of oxygen  

 1. Low density polythene 

 2. High density polythene 

 3. Polytetrafluoro ethene (Teflon) 

 4. Polyethene terephthalate 

 n~ó¿£ |Ó&�qeTT eT]jáTT 350K`570K �cþ�ç>·Ôá e<�Ý �¿ìàÈH� d�eT¿£�+ýË  

�B¸H� jîTT¿£Ø d�+¿£\q bõ*yîT¯¿£sÁD+ e\q @sÁÎ&û~   

 1. n\ÎkÍ+ç<�Ôá>·\ bÍ©B¸H�  

 2. n~ó¿£ kÍ+ç<�Ôá>·\ bÍ©B¸H� 

 3. bÍ©fÉç{² b�þ¢sÃ �B¸H� (fÉb�Í¢H�) 

 4. bÍ©�B¸H� fÉ]b�Íïýñ{Ù 

 

84. The metal, which cannot displace H2 from dilute strong acids 

 �\yîT®q $©q �eÖ¢\ÔÃ � ç¿ì+~ y��ýË ÿ¿£ ýËV�²+ H2qT kÍ�qçuó�+Xø+  

#ûjáTýñ<�T. 

 1. Fe 

 2. Mg 

 3. Cu 

 4. Pb 
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85. The inner most zone of candle flame has one of the following 
character 

 1. It is blue in colour 

 2. It is yellow in colour 

 3. It is black in colour 

 4. Complete combustion of fuel takes place 

 ç¿=y=ÇÜï eT+³ýË nÔá«+ÔáýË|�* çbÍ+Ôá+ � \¿£�D²�� ¿£*Ð �+³T+~.   

 1. �~ ú*sÁ+>·TýË �+³T+~ 

 2. �~ |�d�T|�ÚsÁ+>·TýË �+³T+~ 

 3. �~ q\T|�ÚsÁ+>·TýË �+³T+~ 

 4. �+<ó�q+ |�P]ï>± <�V�²q+ #î+<�TÔáT+~  

 

86. The set of quantum numbers represents a possible arrangement 

 neT]¿£Å£� kÍ<ó�«yîT®q ¿±Ç+³+ d�+K«\ d�eTÖV�²+ 

 1. n = 3, l = 3, m = –2, s = + ½ 

 2. n = 3, l = 2, m = –3, s = + ½ 

 3. n = 3, l = 0, m = 0, s = + ½ 

 4. n = 3, l = 0, m = –1, s = + ½ 
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87. The element with atomic number 60 belongs to 

 1. 6th group, 6th period 

 2. 3rd group, 6th period 

 3. 6th group, 7th period 

 4. 3rd group, 5th period 

 |�sÁeÖDT d�+K« 60 �q� eTÖ\¿£+ B�¿ì #î+<�TÔáT+~.   

 1. 6e ç>·Ö|t, 6e |Ó]jáT&�  

 2. 3e ç>·Ö|t, 6e |Ó]jáT&� 

 3. 6e ç>·Ö|t, 7e |Ó]jáT&� 

 4. 3e ç>·Ö|t, 5e |Ó]jáT&� 

 

88. Type of bonds between two carbon atom in ethyne 

 1. three s sp-sp, two pp-p 

 2. two s sp-sp, two pp-p 

 3. one s sp-sp, one pp-p 

 4. one s sp-sp, two pp-p 

 �<î̧ÕH�ýË Âs+&�T ¿±sÁÒH� |�sÁeÖDTeÚ\ eT<ó�« �+&û u+<ó�\T   

 1. eTÖ&�T s sp-sp, Âs+&�T pp-p 

 2. Âs+&�T s sp-sp, Âs+&�T pp-p 

 3. ÿ¿£ s sp-sp, ÿ¿£ pp-p 

 4. ÿ¿£ s sp-sp, Âs+&�T pp-p    
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89. If [H+] = 1.0 ´ 10–10 mole/lit, then POH value and nature of that 
solution are  

 1. 4, base 

 2. 10, acid 

 3. 10, base 

 4. 4, acid 

 [H+] = 1.0 ´ 10–10 yîÖýÙ/© nsTTq  POH
 $\Te, ç<�eD d�Çuó²eeTT   

 1. 4, ¿�±sÁ+  

 2. 10, �eT¢+ 

 3. 10, ¿�±sÁ+ 

 4. 4, �eT¢+ 

 

90. Values of x and y in the equation are  
2 C4H10 + x O2 → 8 CO2 + yH2O 

 2 C4H10 + x O2 → 8 CO2 + yH2O #ásÁ«ýË x, y $\Te\T esÁTd�>±  

 1. 10, 5 

 2. 5, 13 

 3. 5, 10 

 4. 13, 10 
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91. The volume occupied by 6.022 ´ 1022 molecules of gas at STP is 

 1. 22.4 lit 

 2. 2.24 lit 

 3. 224 lit 

 4. 0.224 lit 

 6.022 ´ 1022 
nDTeÚ\Tq� ÿ¿£ y�jáTTeÚ �ç¿£$T+#û |��Tq|�]eÖD+   

 1. 22.4 ©³sÁT¢  

 2. 2.24 ©³sÁT¢ 

 3. 224 ©³sÁT¢ 

 4. 0.224 ©³sÁT¢ 

 

92. The flux that is added to the ore to remove impurity like FeO from 
the ore is  

 FeO e+{ì eT*H�\qT <ó�ÔáTeÚ qT+&� Ô=\Ð+#á&��¿ì <ó�ÔáTeÚÅ£� ¿£*�|  

ç<�e¿±] 

 1. SiO2 

 2. CaCO3  

 3. CaO 

 4. MgCO3 

  

93. The products formed in chlor-alkali process are  

 ¿Ã¢sY �\Ø© ç|�ç¿ìjáTýË @sÁÎ&û �ÔáÎH��\T 

 1. Na2CO3, Cl2, H2 

 2. NaOH, Cl2, H2 

 3. NaOH, Cl2, H2O 

 4. NaOH, Cl2, O2 
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94. One of the following is not a functional group isomers pair.  

 1. Alcohol & Ether 

 2. Aldehyde & Ketone 

 3. Alcohol & Aldehyde 

 4. Carboxylic acid & Ester 

 ç¿ì+~ y��ýË ç|�yûTjáT d�eTÖV�²kÍ<��Xø«+ #áÖ|�� È+³  

 1. �\ØV�äýÙ Ê �<ó�sY  

 2. �*¦�VÕ²&� Ê ¿¡{ËH� 

 3. �\ØV�äýÙ Ê �*¦�VÕ²&� 

 4. ¿±s�Ò¿ìà*¿ù �eT¢+ Ê md�¼sY 

 

95. IUPAC name of  3 2

O
||

CH - C-CH -CH -CH -COOH
| |
Br Cl

 

 1. 2 – chloro – 3 – bromo – 5 – oxo hexanoic acid 

 2. 3 – bromo – 2 – chloro – 5 – oxo hexanoic acid 

 3. 2 – chloro – 3 – bromo – 2 – oxo hexanoic acid 

 4. 3 – bromo – 2 – chloro – 2 – oxo hexanoic acid 

 3 2

O
||

CH - C-CH -CH -CH -COOH
| |
Br Cl

 jîTT¿£Ø IUPAC �|sÁT   

 1. 2 ` ¿Ã¢sÃ ` 3 ` çuËyîÖ ` 5 ` �¿Ãà �V²¿£àHÃsTT¿ù �eT¢+  

 2. 3 ` çuËyîÖ ` 2 ` ¿Ã¢sÃ ` 5 ` �¿Ãà �V²¿£àHÃsTT¿ù �eT¢+ 

 3. 2 ` ¿Ã¢sÃ ` 3 ` çuËyîÖ ` 2 ` �¿Ãà �V²¿£àHÃsTT¿ù �eT¢+ 

 4. 3 ` çuËyîÖ ` 2 ` ¿Ã¢sÃ ` 2 ` �¿Ãà �V²¿£àHÃsTT¿ù �eT¢+ 
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96. The electronic configurations of four elements A, B, C, D are  
A:1s2    B: 1s22s22p5    C : 1s22s22p3    D: 1s2 2s22p6.  
The tendency to form ionic bond is largest in  

 A, B, C, D  nHû H�\T>·T eTÖ\¿±\ m\ç¿±¼H� $H�«kÍ\T �ý² �H��sTT.  

A:1s2    B: 1s22s22p5     C : 1s22s22p3    D: 1s2 2s22p6.  
M{ìýË njáÖ�¿£ �+<ó��� @sÁÎ¹sÌ ç|�e�Üï mÅ£�Øe>± �q� eTÖ\¿£+   

 1. A 

 2. B 

 3. C 

 4. D 

  

97. Correct order for the sizes of Fe, Fe+2, Fe+3 

 Fe, Fe+2, Fe+3 
|�]eÖD²\ esÁTd� ç¿£eT+ 

 1. Fe < Fe+2 < Fe+3 

 2. Fe+3 < Fe+2 < Fe 

 3. Fe+2 < Fe+3 < Fe 

 4. Fe < Fe+3 < Fe+2 
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98. It is called brine solution 

 1. Aqueous sodium chloride solution 

 2. Aqueous sodium sulphate solution 

 3. Aqueous potassium chloride solution 

 4. Aqueous potassium sulphate solution 

 çuÉÕH� ç<�eDeT� B�� |¾\TkÍïsÁT.   

 1. d�È\ kþ&�jáT+ ¿Ã¢ÂsÕ&� ç<�eD+ 

 2. d�È\ kþ&�jáT+ d�ýñÎÛ{Ù ç<�eD+ 

 3. d�È\ bõ{²w¾jáT+ ¿Ã¢ÂsÕ&� ç<�eD+ 

 4. d�È\ bõ{²w¾jáT+ d�ýñÎÛ{Ù ç<�eD+ 

 

99. Correct order of energy levels of orbitals is 

 �]Ò{²Þø¢ d�ÂsÕq Xø¿ìï ç¿£eT+ 

 1. 3s < 3p < 3d < 4s < 4p 

 2. 3s < 3p < 4s < 3d < 4p 

 3. 3s < 4s < 3p < 3d < 4p 

 4. 3s > 3p > 4s > 3d > 4p 
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100. Example for the colloid in which both dispersion medium and 
dispersed phase are in liquid state is 

 1. Jelly 

 2. Foam 

 3. Milk 

 4. Milk of magnesia 

 $¹¿�|�D jáÖq¿£+, $¹¿�|�D çbÍed�� Âs+&�Ö ç<�ed¾�ÜýË �q� ¿=ý²sTT&� sÁ¿±�¿ì 

�<�V�²sÁD    

 1. CÉ©¢ 

 2. qTsÁT>·T 

 3. bÍ\T 

 4. $TýÙØ �|�t yîT^�w¾jáÖ 

 

101. Unit of rate constant for zero order reaction is 

 1. Sec–1 

 2. mol–1 lit sec–1 

 3. mol lit–1 sec–1 

 4. It has no unit 

 XøSq«ç¿£eÖ+¿£#ásÁ« ¹s³T d¾�s�+¿£+ jîTT¿£Ø ç|�eÖD²\T 

 1. �d¿£qT
–1
  

 2. yîÖýÙ
–1
 ©³sY �d¿£qT

–1 

 3. yîÖýÙ ©³sY
–1
 �d¿£qT

–1 

 4. ç|�eÖDeTT �+&�<�T 
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102. The acidic character among the different oxoacids of chlorine 
follows the order 

 ¿Ã¢]H� $$<ó� �¿Ãà�eÖ¢\ �eT¢ÔáÇ>·TD+ jîTT¿£Ø ç¿£eT+ 

 1. HClO2 < HOCl < HClO3 < HClO4 

 2. HOCl < HClO3 < HClO2 < HClO4 

 3. HClO4 < HClO3 < HClO2 < HOCl 

 4. HOCl < HClO2 < HClO3 < HClO4 

 

 

103. The completely filled and half filled sub shells are stable due to 

 1. Relatively more shielding 

 2. Symmetrical distribution of electrons 

 3. More coulombic repulsion energy 

 4. Smaller exchange energy 

 d�>·+ �+&�q eT]jáTT |�P]ï>± �+&�q �|�¿£sÁÎs�\ d¾�sÁÔ�Ç�¿ì ¿±sÁD+ 

 1. kÍ�|¿£�+>± mÅ£�Øe ¿£e#á+ �+&�&�+ 

 2. m\ç¿±¼q¢ kåw�¼e |�+|¾D¡ 

 3. Å£L\T+_¿ù $¿£sÁüD Xø¿ìï n~ó¿£+>± �+&�&�+ 

 4. eÖsÁTÌ¿=HûXø¿ìï n\Î+>± �+&�&�+ 
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104. The artificial sweetener which is stable at cooking temperature and 
does not provide calories 

 1. Aspartame 

 2. Sucralose 

 3. Alitame 

 4. Saccharin 

 �V�äsÁ+ e+&û �cþ�ç>·Ôá e<�Ý d¾�sÁ+>± �+³Ö �d$+ºq|�Î{ì¿¡ Xø̄ s��¿ì  

¹¿\¯\qT n+~+#á� ¿£�çÜeT r|¾¿±sÁ¿£+ 

 1. nkÍÎ¹s¼y�T 

 2. d�Tç¿£ýËCÙ 

 3. n*fñy�T 

 4. kÍ¿£]H� 

 

 

105. The product formed on addition of HBr to Propene in the presence 
of Peroxide is 

 1. 1 – bromo propane as a minor product 

 2. 2 – bromo propane as a minor product 

 3. 1 – bromo propane as a major product 

 4. 2 – bromo propane as a major product 

 �|s�Â¿Õà&� d�eT¿£�+ýË  HBr ÔÃ çbõ|ÓH� d�+¿£\q #ásÁ«ýË @sÁÎ&û �ÔáÎq�+ 

 1. n\Î�ÔáÎq�+>± 1 ` çuËyîÖ çbõ�|H� 

 2. n\Î �ÔáÎq�+>± 2 ` çuËyîÖ çbõ�|H� 

 3. ç|�<ó�q �ÔáÎq�+>± 1 ` çuËyîÖ çbõ�|H� 

 4. ç|�<ó�q �ÔáÎq�+>± 2 ` çuËyîÖ çbõ�|H� 
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106. The esterification of carboxylic acids with alcohols is a kind of 

 1. Acyl nucleophilic substitution 

 2. aromatic electrophilic substitution 

 3. Alkyl nucleophilic addition 

 4. Acyl electrophilic addition 

 �\ØV�äýÙ\ÔÃ ¿±s�Ò¿ìà*¿ù �eÖ¢\ md�¼]|�¾¹¿w�H� #ásÁ« nHû~ ÿ¿£ 

 1. m�dÕýÙ qÖ«¿ì¢jîÖ|�¾*¿ù ç|�Ü¹¿�|�D+ 

 2. msÃeÖ{ì¿ù m\ç¿Ã¼|�¾*¿ù ç|�Ü¹¿�|�D+ 

 3. �ýÉÕØýÙ qÖ«¿ì¢jîÖ|�¾*¿ù d�+¿£\q+ 

 4. m�dÕýÙ m\ç¿Ã¼|�¾*¿ù d�+¿£\q+ 

 

 

 

107. The correct reason for anomalous behavior of Lithium compared to 
other elements in the group is 

 1. Exceptionally small size of its atom and ion 

 2. Its low polarizing power 

 3. It has low reducing power 

 4. Exceptionally low ionization enthalpy 

 ç¿ì+~ y��ýË ÿ¿£{ì *~¸jáT+qT n<û ç>·Ö|�ÚýË $TÐ*q eTÖ\¿±\ÔÃ bþ*ÌÔû 

<�� nkÍ<ó�sÁD ç|�esÁïqÅ£� ¿±sÁD+ 

 1. nÔá«+Ôá ÔáÅ£�Øe |�sÁeÖDT njáÖH� |�]eÖD+ 

 2. nÔá«\Î <ó��eD kÍeTsÁ�«+ 

 3. ¿£�jáT¿£sÁD kÍeTsÁ�«+ ÔáÅ£�Øe 

 4. nÔá«+Ôá ÔáÅ£�Øe njáTú¿£sÁD Xø¿ìï 
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108. The quantum numbers for the last electron in an atom are  
n = 3, l = 1, m = –1, s = –½ the atom is that of  

 ÿ¿£ |�sÁeÖDTeÚýË ºe] m\ç¿±¼H� jîTT¿£Ø ¿±Ç+³+ d�+K«\T  

n = 3, l = 1, m = –1, s = –½ nsTTÔû � |�sÁeÖDTeÚ 

 1. Mg 

 2. Si 

 3. Al 

 4. S 

  

109. The incorrect statement in case of synthetic rubber. 

 1. It cannot be stretched  

 2. It may be homopolymer of 1, 3 – butadiene derivative 

 3. It may be copolymer of 1, 3 - butadiene 

 4. Neoprene and Buna-N are examples 

 ¿£�çÜeT sÁ�ÒsYÅ£� d�+�+~ó+º d�]¿±� y�¿£«+ 

 1. B�� kÍ>·BjáT&��¿ì M\T¿±<�T  

 2. 1, 3 ` �Ö«{²&îÕ�H� �ÔáÎH��\ d�C²rjáT bÍ*eTsY ¿±e#áTÌ 

 3. 1, 3 ` �Ö«{²&îÕ�H� jîTT¿£Ø ¿ÃbÍ*eTsY ¿±e#áTÌ 

 4. �jîÖç|ÓH�, �Ö«H� ` N \T B� �<�V�²sÁD\T 
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110. BOD value less than 5 ppm indicates a water sample to be 

 1. very clean 

 2. O2 required to break down of micro organisms is high 

 3. not useful for drinking 

 4. not suitable for aquatic life 

 BOD $\Te 5 ppm ¿£+fñ ÔáÅ£�Øe>± �+fñ � ú{ì qeTÖH� 

 1. Xø�<�ÆÔá >·\~  

 2. d�Ö¿£��JeÚ\qT $ºÌÛq�+ #ûjáT&��¿ì #�ý² mÅ£�Øe �¿ìàÈH�  

rd�TÅ£�+³T+~. 

 3. çÔ�>·&��¿ì M\T¿±<�T 

 4. ú{ìýË È+ÔáTeÚ\T J$+#á&��¿ì nqTeÚ>± �+&�<�T. 

 

111. The purpose of adding gypsum to cement is 

 1. to make cement hard 

 2. to absorb moisture 

 3. to slow down the process of setting of cement 

 4. to make the cement to set immediately after adding water 

 d¾yîT+{ÙÅ£� �|�ày�TqT B� ¿=sÁÅ£� ¿£\T|�ÚÔ�sÁT. 

 1. d¾yîT+{Ù >·{ì¼>± ÔájáÖsÁe&�+ 

 2. Ôá&�� |Ó\TÌ¿Ãe&�+ 

 3. d¾yîT+{Ù jîTT¿£Ø �d{ì¼+>´ HîeT�~>± ÈsÁ>·&�+ 

 4. d¾yîT+{ÙÅ£� ú{ì� ¿£*|¾q yî+³Hû �d{ì¼+>´ ÈsÁ>·&�+ 
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112. In one of the following reaction O2 cannot be produced 

 1. Reaction between 4MnO- , H2O2 in acidic medium 

 2. Reaction between HOCl and H2O2 in acidic medium 

 3. Reaction between I2 and H2O2 in basic medium 

 4. Reaction between Mn+2 and H2O2 in basic medium 

 O2 yî\Te&�� #ásÁ«qT >·T]ï+#á+&�. 

 1. 4MnO- , H2O2 \ eT<ó�« �eT¢jáÖq¿£+ýË #ásÁ« 

 2. HOCl, H2O2\ eT<ó�« �eT¢jáÖq¿£+ýË #ásÁ« 

 3. I2, H2O2 \ eT<ó�« ¿�±sÁjáÖq¿£+ýË #ásÁ« 

 4. Mn+2, H2O2\ eT<�« ¿�±sÁjáÖq¿£+ýË #ásÁ« 

 

113. One of the following will form a buffer solution. 

 �|��sY ç<�eD²�� @sÁÎsÁÌ>·*¹>~. 

 1. NaCl + NaOH 

 2. NH4Cl + NH4OH 

 3. Na2SO4 + H2SO4 

 4. NaNO3 + HNO3 

 

114. The reaction, which represents incomplete combustion of methane. 

 ç¿ì+~ y��ýË MT<û̧H� jîTT¿£Ø nd�+|�PsÁ� <�V�²q #ásÁ«qT Ôî*jáTCñ�d~. 

 1. 4 2 3
Cu/523K/100atm2CH + O 2CH OH¾¾¾¾¾¾¾®  

 2. 4 2 2

Mo O2 3
ΔCH +O HCHO+H O¾¾¾¾®  

 3. CH4 + 2O2 →  CO2 + 2H2O 

 4. CH4 + O2 → C + 2H2O 
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115. In Clemmensen reduction, carbonyl compound is treated with 

 1. Zinc amalgam + HCl 

 2. Sodium amalgam + HCl 

 3. Zinc amalgam + HNO3 

 4. Sodium amalgam + HNO3 

 Â¿¢eTH�d�H� ¿£�jáT¿£sÁD+ýË ¿±s=ÒHîÕýÙ d�eTÖV�ä�� B�ÔÃ ¿£�jáT¿£sÁD+ #ûkÍïsÁT. 

 1. �+¿ù neÖ\Zy�T G HCl 

 2. kþ&�jáT+ neÖ\Zy�T G HCl 

 3. �+¿ù neÖ\Zy�T G HNO3 

 4. kþ&�jáT+ neÖ\Zy�T G HNO3 

 

116. It is not used to convert RCHO into RCH2OH 

 1. H2/Pd 

 2. LiAlH4 

 3. NaBH4 

 4. Reaction with RMg X followed by hydrolysis 

 RCHO qT  RCH2OH >± eÖsÁÌýñ�~ 

 1. H2/Pd 

 2. LiAlH4 

 3. NaBH4 

 4. RMg X ÔÃ #ásÁ« Ôás�ÇÔá È\$Xâ¢w�D #ûjáT&�+ 

 

 

 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


117. The white precipitate formed in the reaction of Aniline and bromine 
water at room temperature is 

 1. 2, 4, 6 – tribromo aniline 

 2. 2, 4 – dibromo aniline 

 3. 2, 6 – dibromo aniline 

 4. 2 – bromo aniline 

 >·~ �cþ�ç>·Ôá e<�Ý m�©H� çuË$TH� È\eTTÔÃ #ásÁ«bõ+~Ôû @sÁÎ&û Ôî\¢�  

ne¹¿�|�+ 

 1. 2, 4, 6 ` çfÉ®çuËyîÖ m�©H�  

 2. 2, 4 ` &îÕçuËyîÖ m�©H� 

 3. 2, 6 ` &îÕçuËyîÖ mú©H� 

 4. 2 ` çuËyîÖ m�©H� 

 

118. The mixture produced when phenol reacts with dilute nitric acid at 
low temperature is 

 1. o – Nitrophenol + m – Nitrophenol 

 2. o – Nitrophenol + p – Nitrophenol 

 3. p – Nitrophenol + m – Nitrophenol 

 4. o – Nitrophenol + p – Nitrophenol + m – Nitrophenel 

 ÔáÅ£�Øe �cþ�ç>·Ôá e<�Ý |�ÓH�ýÙ, $©q HîÕç{ì¿ù �eT¢+ÔÃ #ásÁ« È]|¾Ôû @sÁÎ&û  

$TçXøeT+ 

 1. o ` HîÕç{Ë|ÓH�ýÙ G m ` HîÕç{Ë|�ÓH�ýÙ  

 2. o ` HîÕç{Ë|�ÓH�ýÙ G  p ` HîÕç{Ë|�ÓH�ýÙ 

 3. p ` HîÕç{Ë|�ÓH�ýÙ G m ` HîÕç{Ë|�ÓH�ýÙ 

 4. o ` HîÕç{Ë|�ÓH�ýÙ G p ` HîÕç{Ë|�ÓH�ýÙ G m ` HîÕç{Ë|�ÓH�ýÙ 
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119. Choose the correct statement of compounds containing coordinate 
bond 

 1. Sparingly soluble in organic solvents 

 2. Ammonium ion is an example 

 3. Melting and boiling points higher than those of ionic  
compounds 

 4. Good electric conductors 

 d�eTqÇjáT d�eTjîÖÈújáT |�<�s��\Å£� d�+�+~ó+º d�ÂsÕq~ 

 1. �$ kÍ<ó�sÁD ¿£sÁÒq ç<�eD²\ýË ÔáÅ£�Øe>± ¿£sÁT>·TÔ�sTT. 

 2. nyîÖ��jáT+ njáÖH� ÿ¿£ �<�V�²sÁD 

 3. M{ì ç<�Muó�eq, uó²wÓÎuó�eq kÍ�H�\T njáÖ�¿£ |�<�s��\ ¿£H�� mÅ£�Øe 

 4. �$ �\yîT®q $<�T«<�ÇV�²¿±\T 

 

 

120. The conjugate acid, conjugate base for H2O respectively are  

 H2O jîTT¿£Ø ¿±+E¹>³T �eT¢eTT, ¿±+E¹>³T ¿�±sÁeTT esÁTd�>± 

 1. OH¯, H3O+ 

 2. H+, OH¯ 

 3. H3O+, OH¯ 

 4. OH¯, H+ 

  

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


METHODOLOGY 

 

121. A scientific fact should always  

 1. be directly observable and demonstrable in any number of 
times 

 2. cannot be observed directly and no scope for demonstratable 
 3. be demonstratable for only one time and not directly  

observable 
 4. be observable only in specific circumstances 

 $C²ãqXæg jáT<�s��\T m\¢|�ÚÎ&�Ö..... 

 1. ç|�Ôá«¿£�+>± |�]o*+#á>·*Ð, m��kÍÂs¢íH�, m|�ð&îÕH�  

ç|�<�]ô+#á�&�>·\>±* 

 2. ç|�Ôá«¿£� |�]o\qÅ£�, ç|�<�sÁôqÅ£� nqTÅ£L\+>± �+&�eÚ 

 3. ÿ¿£kÍ] eÖçÔáyûT ç|�<�sÁôqÅ£� nqTÅ£L\+ eT]jáTT ç|�Ôá«¿£�+>±  

|�]o*+#áýñeTT 

 4. ç|�Ôû«¿£ d�+<�s�ÒÛ\ýË eÖçÔáyûT |�]o\qÅ£� nqTÅ£L\+ 

  

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


122. An example for Null Hypothesis 

 1. There is no relationship between boiling point of water  
and its pressure 

 2. There is relationship between boiling point of water and its  
pressure 

 3. There may be a relationship between boiling point of water 
and its pressure 

 4. Is there any relationship between boiling point of water and 
its pressure? 

 qýÙ çbÍ¿£\ÎqÅ£� ÿ¿£ �<�V�²sÁD 

 1. úsÁT eT]¹> kÍ�H��¿ì |Ó&�H��¿ì mý²+{ì d�+�+<ó�+ ýñ<�T 

 2. úsÁT eT]¹> kÍ�H��¿ì |Ó&�H��¿ì d�+�+<ó�+ ¿£\<�T 

 3. úsÁT eT]¹> kÍ�H��¿ì |Ó&�H��¿ì d�+�+<�+ �+&�e#áTÌ 

 4. úsÁT eT]¹> kÍ�H��¿ì |Ó&�H��¿ì eT<�« @<îÕH� d�+�+<ó�+ �+<�? 

 
 

123. One of the following is a Basic Process 

 1. Hypothesising 

 2. Interpreting data 

 3. Inferring 

 4. Experimenting 

 ç¿ì+~ y��ýË ÿ¿£{ì eTò*¿£ ç|�ç¿ìjáT 

 1. |�]¿£\Îq ç|�ÜbÍ<�q 

 2. <�Ô�ï+Xø y�«U²«q+ 

 3. �s�Ý]+#á&�+ 

 4. ç|�jîÖ>·+ #ûjáT&�+ 
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124. ‘Analytical balance’ was developed by 

 1. Dalton 

 2. Meyer 

 3. Mendeleev 

 4. Lavoisier 

 »$Xâ¢w�D²Ôá�¿£ çÔ�d�Tµ qT n_óe�~Ý |�]ºqy�sÁT 

 1. &�\¼H� 

 2. yûTjáTsY 

 3. yîT+&�©y� 

 4. ýÉyÃsTTÈsY 

 

 

125. Identification and confirmation of skin diseases was dealt in….. 

 1. Charaka Samhita 

 2. Rasa Ratnakara 

 3. Susrita Samhita 

 4. Pancha Siddantha 

 #ásÁ�y�«<ó�T\T >·T]ï+#á&�+, �s�ÝsÁD #ûjáT&�+ >·T]+º �q� ç>·+<�̧+ 

 1. #ásÁ¿£d�+V¾²Ôá 

 2. sÁd�sÁÔ��¿£sÁ 

 3. Xø�Xø�Ôád�+V¾²Ôá 

 4. |�+#ád¾<�Ý+Ôá 
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126. The thirteenth month which comes once in five years was explained 
in 

 1. Rigveda 

 2. Adharvanaveda 

 3. Yajurveda 

 4. Samaveda 

 ×<�T d�+eÔáàs�\ ¿=¿£kÍ] e#ûÌ 13e Hî\ >·T]+º � yû<�+ýË $e]+#�sÁT. 

 1. sÁT¹>Ç<� 

 2. n<ó�sÁÇD yû<� 

 3. jáTEsY yû<� 

 4. kÍeTyû<� 

 

 

127. ‘A child acquires process skills through learning science’ is related 
to the value 

 1. Moral value 

 2. Vocational value 

 3. Disciplinary value 

 4. Cultural value  

 »»$C²ãq Xæg nuó�«d�qeTT <�Çs� $<�«]�ýË ç|�ç¿ìjáÖ HîÕ|�ÚD²«\T  

�|+bõ+<�TÔ�sTTµµ. nqTq~ � ç¿ì+~ $\TeÅ£� d�+�+~ó+ºq~ 

 1. HîÕÜ¿£ $\Te 

 2. e�Üï $\Te 

 3. ç¿£eT¥¿£�D $\Te 

 4. kÍ+d�Ø �Ü¿£ $\Te 
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128. ‘To teach the laws of refraction’ the Physical Science teacher has to 
take the help of this subject teacher 

 1. Biological Science 

 2. Geography 

 3. Mathematics 

 4. History 

 »eç¿¡uó�eq d�ÖçÔ�\Tµ uË~ó+#áT³Å£� uó�Ü¿£ sÁkÍjáTq Xæg �bÍ<ó�«jáTT&�T  

eTTK«+>± � d�uÉ̈Å£�¼ �bÍ<ó�«jáTT� d�V�äjáT+ rd�T¿Ãy�*. 

 1. JeXæg 

 2. uó�>Ã[¿£ Xæg 

 3. >·DìÔá 

 4. #á]çÔá 

 

129. “Detects errors in the circuit while verifying ohm’s law” – This 
specification belongs to this objective 

 1. Skill 

 2. Understanding 

 3. Application 

 4. Interest 

 »zy�T �jáTeT+ �sÁÖ|¾+#û e\jáT+ýË <ÃcÍ\T ¿£qT>=qT³µ nqTd�ÎwÓ¼¿£sÁD+  

ç¿ì+~ \¿�±«�¿ì d�+�+~ó+ºq~ 

 1. HîÕ|�ÚD«eTT 

 2. ne>±V�²q 

 3. $�jîÖ>·eTT 

 4. �d�¿ìï 
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130. Gives reasons for the scientific process namely, “When sugar is 
mixed in water, the volume of the solution does not increase”….. 
This specification belongs to this objective 

 1. Interest 

 2. Application 

 3. Skill 

 4. Understanding 

 »»ú{ìýË #áÂ¿ØsÁ ¿£*|¾q|�ÚÎ&�T ç<�eD+ |��Tq|�]eÖDeTT �|sÁ>·<�T e+{ì  

XæçdÓïjáT ç|�ç¿ìjáT\Å£� ¿±sÁD²\qT �|s=ØqTeTTµµ nqT d�ÎwÓ¼¿£sÁD+ � ç¿ì+~  

\¿�±«�¿ì d�+�+~ó+ºq~ 

 1. n_ósÁTº 

 2. $�jîÖ>·+ 

 3. HîÕ|�ÚD«+ 

 4. ne>±V�²q 

 

131. Which among the following can be treated as an objective under 
affective domain 

 1. Knowing what a message means 

 2. Remembering terms/facts 

 3. Showing active interest in something 

 4. Assembling a whole from parts 

 ç¿ì+~ y��ýË B�� uó²y�yûXø sÁ+>·+ýË� ÿ¿£ \¿£�«+>± #áÖ&�e#áTÌ. 

 1. ÿ¿£ d�+<ûXø+ @$T{Ë Ôî\Td�T¿=qT³ 

 2. |�<�\T/jáT<�s��\qT >·TsÁTï+#áT¿=qT³ 

 3. @<Ãÿ¿£<���|Õ ç¿ìjáÖÔá�¿£ n_ósÁTº ¿£*Ð �+&�&�+ 

 4. uó²>±\T>± �q�<��� yîTTÔáï+>± �|³¼>·\>·&�+ 
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132. ‘The classification of present values is not satisfactory’ this criticism 
on Bloom’s taxonomy is given by 

 1. Socket 

 2. Kelly 

 3. Leutome 

 4. Ornell 

 �Ö¢y�T $<�« \¿�±«\ e Z̄¿£sÁDýË »»ç|�d�TïÔá $\Te\ e Z̄¿£sÁD n+Ôád�+Ôá�|¾ï>± 

ýñ<�Tµµ n� #î|¾Îqy�sÁT 

 1. kÍÂ¿{Ù 

 2. Â¿©¢ 

 3. \T«{Ëy�T 

 4. �Âs�ýÙ 

 

133. Active participation of the student in Physical Science activities can 
be attained in this domain through this objective 

 1. Cognitive domain, analysis 

 2. Affective domain, responding 

 3. Psychomotor domain, articulation 

 4. Affective domain, organising 

 $<�«]� uó�Ü¿£ XæçkÍï�¿ì d�+�+~ó+ºq ¿£�Ôá«+ýË #îÕÔáq«e+Ôá+>± bÍý¤Zq&�+ 

nHû~ � \¿£�«+ <�Çs� � sÁ+>·+ýË kÍ~ókÍï&�T.  

 1. C²ãqsÁ+>·+, $Xâ¢w�D 

 2. uó²y�yûXø sÁ+>·+, ç|�Üd�Î+<�q 

 3. eÖqd¾¿£ #á\H�Ôá�¿£sÁ+>·+, �#�ÌÛsÁD 

 4. uó²y�yûXø sÁ+>·+, e«ekÍ�|�q+ 
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134. An important characteristic of Deductive approach is 

 1. Psychological method 

 2. Encourages self learning 

 3. Time consuming method 

 4. Stress on rote memory 

 »�>·eTq �|�>·eT+µ eTTK« \¿£�DeTT 

 1. eTHÃyîÕC²ã�¿£ |�<�ÝÜ 

 2. d�ÇjáT+ nuó�«d�qqT çbþÔáàV¾²d�Tï+~ 

 3. n~ó¿£¿±\+ ned�sÁeTT 

 4. �{¡¼d�� �Ü¿ì mÅ£�Øe çbÍ<ó�q«eTT 

 

 

135. Lecture method can best be used to teach 

 1. Theories relating the Acids-Bases 

 2. To prove Archimedes Principle 

 3. To show transverse waves using pendulum bobs 

 4. Preparation of CO2 in the laboratory 

 B�� uË~ó+#áT³Å£� �|�H�«d� |�<�ÆÜ u²>± �|�jîÖ>·|�&�TÔáT+~ 

 1. �eÖ¢\T`¿�±s�\Å£� d�+�+~ó+ºq d¾<�Æ+Ô�\T 

 2. �]ØyîT&�dt �jáTeÖ\T �sÁÖ|¾+#áT³ 

 3. ýË\¿±�� �|�jîÖÐ+º nqT<îÕsÁé « ÔásÁ+>±\qT #áÖ|�&��¿ì 

 4. ç|�jîÖ>·Xæ\ýË CO2 ÔájáÖsÁT #ûjáTT³ 
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136. “Working of Gramaphone and Recording” comes under the 
following project 

 1. Observation project 

 2. Verification project 

 3. Construction project 

 4. Study project 

 »ç>±eTb�þH� |��#û�d $<ó�q+ eT]jáTT ]¿±]¦+>µ́µ � ç¿ì+~ çbÍCÉÅ£�¼  

d�+�+~ó+ºq~ 

 1. |�]o\q çbÍCÉÅ£�¼ 

 2. �sÁÖ|�D çbÍCÉÅ£�¼ 

 3. �s��D²Ôá�¿£ çbÍCÉÅ£�¼ 

 4. n<ó�«jáTq çbÍCÉÅ£�¼ 

 

137. The following aspect does not belong to ‘skill acquisition phase’ in 
micro teaching 

 1. Preparation of micro lesson 

 2. Practice skill 

 3. Evaluate performance 

 4. Analysing demonstration and discussion 

 ç¿ì+~ y��ýË ÿ¿£{ì d�Ö¿£�� uË<ó�qýË »HîÕ|�ÚD« d�eTTbÍsÁ̈q <�XøÅ£�µ  

d�+u+~ó+ºq~ ¿±<�T 

 1. d�Ö¿£��bÍsÄ��� ÔájáÖsÁT #ûjáT&�+ 

 2. HîÕ|�ÚD«kÍ<�q 

 3. kÍ<ó�qqT eTÖý²«+¿£q+ #ûjáT&�+ 

 4. ç|�<�sÁôqqT $Xâ¢w¾+#á&�+ eT]jáTT #á]Ì+#á&�+ 
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138. Theoretical knowledge can only be given through teaching this 
lesson in the classroom 

 1. Working of electric switch 

 2. Characteristics of cathode rays 

 3. Properties of magnets 

 4. Wave motion 

 ÔásÁ>·Ü >·~ýË � ç¿ì+~ bÍsÄÁeTT uË~ó+#áT³ <�Çs� d¾<�Ý+Ôá |�]C²ãqeTT  

eÖçÔáyûT �eÇ>·\eTT 

 1. $<�T«ÔY d¾Ç#Y |��#ûjáTT $<ó�eTT 

 2. ¿±<¸Ã&� ¿ìsÁD²\ ý¿£�D²\T 

 3. njáTkÍØ+Ôá <ó�s��\T 

 4. ÔásÁ+>· #á\qeTT 

 

139. The third step in the ‘structure of concept map’ is  

 1. Presentation of abstraction 

 2. Application 

 3. Closure 

 4. Propositional phase 

 »uó²eH�ºçÔá+ �s��D+µ ýË� eTÖ&�e <�Xø 

 1. neTÖsÁï ÔáÔ�Ç�� |�]#ájáT+ #ûjáT&�+ 

 2. nqTesÁïqeTT 

 3. eTTÐ+|�Ú 

 4. ç|�ÜbÍ<�q / |�<�̧¿£<�Xø 
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140. Theory of meaningful verbal learning is proposed by 

 1. Piaget 

 2. Bandura 

 3. Ausbel 

 4. Kolb 

 nsÁ�e+ÔáyîT®q Xæ_Ý¿£ nuó�«d�q d¾<�Ý+Ô��� ç|�ÜbÍ~+ºqy�sÁT 

 1. |¾jáÖCÉ 

 2. �+&�Ös� 

 3. �d�T�ýÙ 

 4. ¿ÃýÙÒ 

 

141. ‘Making the child to ask questions on the lesson’ comes under this 
step in period plan. 

 1. Mind mapping 

 2. Activities-understanding of concepts 

 3. Reading text books, Recognising Keywords 

 4. Demonstration – Discussion 

 »bÍsÄÁ+ >·T]+º |¾\¢\qT ç|�Xø�\T n&�>·eTq&�+µ nqTq~ |Ó]jáT&� |�<�̧¿£+ýË 

� kþbÍqeTT ç¿ì+<� ed�Tï+~ 

 1. yîT®+&� eÖ«|¾+>´ 

 2. ¿£�Ô�«\ �sÁÇV�²D ` uó²eq\ ne>±V�²q 

 3. bÍsÄÁ«|�Úd�ï¿±\T #á<�e&�+ ` ¿¡\¿£|�<�\T >·T]ï+#á&�+ 

 4. ç|�<�sÁôq ` #ásÁÌ 
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142. One of the following is a developmental activity  

 1. Motivation 

 2. Generalization 

 3. Application 

 4. Presentation 

 ç¿ì+~ y��ýË n_óe�~Æ ¿£�Ôá«eTT 

 1. �qT�F¿£sÁD+ 

 2. kÍ<ó�sÁD¡¿£sÁD+ 

 3. nqÇjáT+ 

 4. V�äÈsÁT |�sÁ#á&�+ 

 

 

143. Vicarious experiences are used to teach this topic in Physical 
Sciences 

 1. Types of chemical reactions  

 2. Effect of ultra violet rays  

 3. Preparation of CO2 in the laboratory 

 4. Working of force pump 

 uó�Ü¿£Xæg+ýË ç¿ì+~ n+XøeTT uË~ó+#áT³Å£� ç|�Ü�~ó̧ÔáÇ nqTuó�y�\qT  

y�&�Ô�sÁT 

 1. sÁkÍjáTq #ásÁ«\T ` sÁ¿±\T 

 2. nÜú\ ýËV¾²Ôá ¿ìsÁD²\ ç|�uó²eeTT 

 3. ç|�jîÖ>·Xæ\ýË CO2 ÔájáÖ¯ 

 4. bþsÁTà|�+|�Ú |��#û�d $<ó�qeTT 
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144. One of the following is a Graphic aid 

 1. Flannel board 

 2. Motion pictures 

 3. Puppets 

 4. Cartoons 

 ç¿ì+~ y��ýË ÿ¿£{ì ç>±|�¾¿ù �|�¿£sÁDeTT 

 1. bÍ¢qýÙ uËsÁT¦ 

 2. #á\q ºçÔ�\T 

 3. ÔÃ\Tu¤eT�\T 

 4. ¿±sÁÖ¼H�à 

 

 

145. The most abstract experience in the cone of experience is  

 1. Verbal symbols 

 2. Visual symbols 

 3. Still pictures 

 4. Radio recording 

 nqTuó�y�\ Xø+KTeÚýË mÅ£�Øe neTÖsÁï <�XøýË �q� nqTuó�y�\T 

 1. Xø�Ý kÍ+¹¿Ü¿±\T 

 2. <��Xø« kÍ+¹¿Ü¿±\T 

 3. #á\qsÁV¾²Ôá ºçÔ�\T 

 4. ¹s&�jîÖ]¿±]¦+>´ 
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146. Structure of atoms can best be explained through 

 1. Scale models 

 2. Solid type models 

 3. Working models 

 4. X – ray models 

 |�sÁeÖDT �s��D²�� uË~ó+#áT³Å£� nqTyîÕq eÖ~sÁT¢ 

 1. �dØ\T eÖ~sÁT¢ 

 2. |��TqsÁÖ|� eÖ~sÁT¢ 

 3. |��#û�d eÖ~sÁT¢ 

 4. m¿ùà¿ìsÁD eÖ~sÁT¢ 

 

147. An example for activity aid is 

 1. Television 

 2. Pictures 

 3. Tape recorder 

 4. Field trips 

 ¿£�Ô�«Ôá�¿£ uË<ó�HÃ|�¿£sÁD²\Å£� �<�V�²sÁD 

 1. <�ÖsÁ<�]ô� 

 2. ºçÔ�\T 

 3. fñ|t]¿±sÁ¦sY 

 4. ¹¿�çÔá|�sÁ«³q\T 
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148. In the laboratory, brass substances are to be cleaned with 

 1. Fire ash 

 2. Vim powder 

 3. Brasso 

 4. Sodium bicarbonate 

 ç|�jîÖ>·Xæ\ýË �Ôáï&� kÍeÖqTqT B�ÔÃ Xø�çuó�|�sÁ#�* 

 1. #î¿£Ø�Ö&�<� 

 2. $y�Tbå&�sY 

 3. çu²kþ 

 4. kþ&�jáT+ uÉÕ ¿±sÃÒHû{Ù 

 

 

149. The chemical to be placed in locked cupboards is 

 1. Zinc 

 2. Copper 

 3. Potassium chlorate 

 4. Silver nitrate 

 ¿£|tuËsÁT¦ýË Ô�Þø+ yûd¾ �+#áe\d¾q sÁkÍjáTqeTT 

 1. �+¿ù 

 2. s�Ð 

 3. bõ{²w¾jáT+ ¿Ã¢¹s{Ù 

 4. d¾\ÇsY HîÕçfñ{Ù 

 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


150. The details of the purchase of articles like soaps, kerosene are to be 
entered in this register 

 1. Breakable stock register 

 2. Temporary stock register 

 3. Consumable stock register 

 4. Non breakable stock register 

 d��TÒ, ¿ìsÃd¾H� e+{ì y�{ì� ¿=q�|�ÚÎ&�T y�{ì $es�\qT ç¿ì+~ ]�w�¼sÁTýË  

qyîÖ<�T #ûjáÖ*. 

 1. |�Ðýñ ed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 2. Ô�Ô�Ø*¿£ kÍ¼¿ù ]�w�¼sÁT 

 3. y�&ûed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 4. |�>·\� ed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 

 

151. If burnt with the Sodium in the laboratory, the metal has to be 
removed and has to be cleaned with 

 1. Kerosine 

 2. Lime water 

 3. Soap water 

 4. Hydrogen peroxide 

 ç|�jîÖ>·Xæ\ýË kþ&�jáT+ sÁkÍjáTq+ e\q ¿±*q|�ÚÎ&�T ýËV�ä�� Ô=\Ð+º  

ç¿ì+~ |�<�sÁ�eTTÔÃ Xø�çuó�|�sÁ#�* 

 1. ¿ìsÃd¾H� 

 2. d�Tq�|�ÚúsÁT 

 3. d��TÒç<�eDeTT 

 4. �VÕ²ç&ÃÈH� �|s�Â¿Õà&� 
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152. As per classification of educational materials “examples for 
materials available in our environment with very low cost” are 

 1. Models 

 2. Pegboards 

 3. Batteries 

 4. Minerals 

 $<�«kÍeÖçÐ e Z̄¿£sÁD ç|�¿±sÁ+ #�ý² »»ÔáÅ£�Øe KsÁTÌÔÃ eTq |�]d�s�\ýË  

<=]¹¿ kÍeÖçÐ¿ìµµ �<�V�²sÁD 

 1. qeTÖH�\T 

 2. �|>´uËsÁT¦\T 

 3. u²«³¯\T 

 4. K�C²\T 

 

153. In Modern Physics atomic structure, radio activity, artificial 
disintegration topics are arranged in a sequential order. This 
curricular organization is 

 1. Topical approach 

 2. Logical approach 

 3. Concentric approach 

 4. Spiral approach 

 �<ó�T�¿£ uó�Ü¿£Xæg+ýË |�sÁeÖDT �s��D+, ¹s&�jîÖ <ó�]�¿£Ôá, ¿£�çÜeT  

|�]esÁïq+ nHû esÁTd� ç¿£eT+ýË bÍsÄÁ«uó²>±\T neTsÁÌ�&�q bÍsÄÁ«ç|�D²[¿±  

e«edÓ�¿£sÁD $<ó�q+ 

 1. n+Xæ\ |�<�ÝÜ 

 2. Ô�]Ø¿£ ç¿£eT |�<�ÝÜ 

 3. @¿£¹¿+ç<�¿£ |�<�ÝÜ 

 4. d�]Î\ |�<�ÝÜ 
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154. The comprehensive knowledge related to certain topics will be dealt 
in only one class in this method of curricular organization 

 1. Topical approach 

 2. Concentric approach 

 3. Concept approach 

 4. Historical approach 

 ç¿ì+~ bÍsÄÁ«ç|�D²[¿£ eÇedÓ�¿£sÁD $<ó�qeTTýË ¿=�� bÍsÄ�«+Xæ\Å£�  

d�+�+~ó+ºq d�eTç>· C²ãq+ ÿ¹¿ ÔásÁ>·ÜýË �eÇ�&�TÔáT+~. 

 1. o]ü¿± |�<�ÝÜ 

 2. @¿£¹¿+ç<�¿£ |�<�ÝÜ 

 3. uó²eH� |�<�ÝÜ 

 4. #�]çÔá¿£ |�<�ÝÜ 

 

155. The book “Universe – Solar family” relates to this category of books 
in the science library 

 1. Reference books 

 2. Background books 

 3. Supplementary books 

 4. Journals 

 »»$XøÇeTT`kåsÁÅ£�³T+�+µµ nqT |�Úd�ï¿£eTT $C²ãqXæg ç>·+<¸�\jáTeTTýË �  

sÁ¿£|�Ú |�Úd�ï¿±\Å£� d�+�+~ó+ºq~. 

 1. d�+ç|�~+#áe\d¾q ç>·+<¸�\T 

 2. Hû|�<�̧«|�Úd�ï¿±\T 

 3. d�|¾¢yîT+³¯ |�Úd�ï¿±\T 

 4. ÈsÁ�ýÙà 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


156. The evaluation useful to know the learning strengths and weaknesses 
of a children before instruction is 

 1. Formative 

 2. Summative 

 3. Placement 

 4. External 

 uË<ó�qÅ£� eTT+<�T $<�«sÁT�\ nuó�«d�H� kÍeTs��«\T, �\VÓ²qÔá\T  

Ôî\Td�T¿Ãe&��¿ì �|�jîÖ>·|�&û eTÖý²«+¿£qeTT 

 1. sÁÖbÍÔá�¿£ 

 2. d�+¿£\q 

 3. kÍ�q�¹sÝXøÔá 

 4. u²V�²« 

 

157. An example for qualitative procedure in Evaluation is 

 1. Rating scale 

 2. Questionnaire 

 3. Interview 

 4. Aptitude test 

 eTÖý²«+¿£q+ýË >·TD²Ôá�¿£ $<ó�H��¿ì ÿ¿£ �<�V�²sÁD 

 1. ¹s{ì+>´ �dØ\T 

 2. ç|�Xæ�e[ 

 3. �+³sÁÖÇ« 

 4. n_ósÁTº |�̄ ¿£� 
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158. An advantage of Essay type of test is 

 1. More subjective 

 2. Encourages rote memory 

 3. Scope for guessing 

 4. Improves reading habits 

 y�«d�|�̄ ¿£� ÿ¿£ �|�jîÖ>·eTT 

 1. $w�jáT �w�¼Ôá mÅ£�Øe 

 2. �{¡¼ d�� �Ü¿ì mÅ£�Øe çbÍ<ó�q«+ 

 3. }V�²\Å£� ne¿±XøeTT 

 4. |�sÄÁq n\y�³T¢ n_óe�~Æ 

 

 

159. One of the characteristic feature of standardized test is 

 1. Unreliable 

 2. Reliable 

 3. Flexible in administration 

 4. Quality of test is unknown  

 ç|�eÖD |�̄ ¿£� ÿ¿£ \¿£�DeTT 

 1. n$XøÇXøújáTÔá 

 2. $XøÇXøújáTÔá 

 3. �sÁÇV�²DýË nqT>·TD«Ôá 

 4. |�̄ ¿£� >·TD²Ôá�¿£Ôá Ôî*jáT<�T 
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160. In general the maximum weightage that has to be given to this 
academic standard for a test in physical sciences 

 1. Conceptual understanding 

 2. Experimentation and field investigation 

 3. Information skills and projects 

 4. Communication through drawing model making 

 kÍ<ó�sÁD+>± uó�Ü¿£ sÁkÍjáTq Xæg ç|�Xæ�|�çÔá+ýË ç¿ì+~ $<�« ç|�eÖD²�¿ì  

n~ó¿£ uó²sÁÔáÇ+ �y�Ç*. 

 1. uó²eq\ ne>±V�²q 

 2. ç|�jîÖ>±\T, ¹¿�çÔá |�sÁ«³q\T 

 3. d�eÖ#�sÁ �d¿£sÁD eT]jáTT çbÍCÉÅ£�¼\T 

 4. u¤eT�\ <�Çs� d�eÖ#�sÁ+ �eÇ&�+ eT]jáTT qeTÖH�\T ÔájáÖsÁT  

#ûjáT&�+ 
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